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8 THE FUNCTIONS OF VERBAL ASPECT IN OCS

8.0 Introduction

In Chapter 2, I discussed the characteristics of verbal aspect in Slavic and the
differences between Slavic-style aspect and Romance-style aspect. In the
subsequent chapters, I laid out my morphological approach of verbal aspect
in OCS and compared it to the varying approaches in previous studies. By
means of the correspondence analysis in Chapter 7, I was able to demonstrate
that the differences between the profiles can, for the largest part, be explained
by one factor, or dimension. On this ‘aspect dimension’, imperfective verbs
and perfective verbs show up on opposite sides. Anaspectual verbs are
posited in between the two. Other than this relatively clear outline, the
statistical analysis did not yield any basis to say much about the functions of
aspect in OCS.

In the present chapter I will perform a semantic analysis of examples of verbs
from the core groups: perfective, imperfective and anaspectual. I will describe
the main functions of perfective and imperfective aspect and compare these
to the functions of anaspectual verbs. For this purpose, I will mainly
concentrate on three verb forms that show strong interaction with aspect:
present, aorist and imperfect.!

At the basis of the discussion lies the idea that the OCS derivational aspect
system is a Slavic-style system. Basically, the difference between perfective
and imperfective verbs is the difference between actualizing the inherent
boundary as opposed to defocusing this boundary. The particular uses of the
perfective and imperfective aspect are not logically deducible from this basic
distinction, as is shown by the differences in aspect choice between the
modern Slavic languages (cf. Stunovéa 1993, Dickey 2000, Barentsen 2008)
even though all have a Slavic-style aspect system.

The goal of this chapter is to establish how verbal aspect in OCS functions in
various contexts in order to establish a basic meaning for both aspects. So the
purpose is a synchronic description. However, in the concluding chapter I

' Where it benefits the discussion, I will give examples of participles. Infinitives are left out of the
consideration because of the extra complicating factor of the construction with a finite form. The
relationship between aspect and the imperative is also rather complex, as I have shown in
Chapter 6, especially when negation comes into play. These forms would no doubt provide useful
information for the study of verbal aspect in OCS, but I believe that by concentrating on the
major three finite verb forms, I will be able to lay a basic foundation that could be used to study
these more complicated cases in a subsequent study.
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will briefly discuss OCS verbal aspect in a diachronic perspective, based on
the results from the present chapter. This diachronic comparison is meant to
establish whether the OCS verbal aspect system revolves around totality, like
Czech, or whether an additional element of sequential connection plays a
role, like in Russian (cf. Chapter 2, Barentsen 1995, 1998, 2008, Dickey 2000).>

During the discussion of the aspectual forms, I will also provide examples
with anaspectual verbs. An important factor in the behaviour of anaspectual
verbs and their relationship to the aspect system lies in the
‘terminativizability’ of the verb: whether or not its usage in a terminative
predicate is allowed and if so, under which circumstances. I will return to that
in more detail after the discussion of the main functions of the perfective and
imperfective verbs.

Finally, I will also pay attention to some verbs that show deviating profiles
and behaviour compared to other verbs in their group. These verbs show the
importance of the individual analysis of each verb and its attestations instead
of only relying on a formal morphological classification.

8.1 Present tense

The present tense is compatible with both aspects. Characteristic of the
present tense is that the time of assertion (TA) is not situated entirely before
the time of utterance (TU), as discussed in Chapter 6. In essence, the two
main options that this leaves are TA (partly) simultaneous to TU (present)
and TA after TU (future). These two options are divided rather neatly over
both aspects. Greek future forms are normally translated with OCS perfective
presents while Greek indicative presents are normally translated with OCS
imperfective presents. Anaspectual verbs are used in both functions. Below I
will start out discussing this major division in the use of the present tense and
subsequently discuss a number of other functions of aspect in combination
with the present tense.

* Since the corpus of OCS texts is relatively small and contains mainly narratives, it is probable
that not all functions of verbal aspect are attested in all contexts or verb forms. For instance, the
conative use of the imperfective aspect is only attested a few times in the imperfect and examples
in the present tense are absent or at least multi-interpretable. However, a comparison of the few
available OCS examples to modern Slavic languages demonstrates that the conclusion that
imperfective aspect in OCS can be used in a conative function is justifiable. Other functions, such
as running instructions one finds in recipes, like now you add the salt (cf. Dickey 2000: 155-174)
are almost absent from OCS (the one I know of, one folio in Psalter Dimitrijs (Schaeken &
Birnbaum 1999: 185-186) uses infinitives like ispiti ‘drink up’, variti ‘cook’). A comparison to
modern Slavic languages will therefore always be only partial and the lack of native informants
makes it hard to find the limits of the possibilities.
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8.1.1 Future reference

As mentioned before, an important function of the perfective aspect in the
present tense in OCS is the expression of futurity. In terms of the time-
relation model this means that the TA lies after TU. It appears that
attainment of an inherent boundary is more compatible with an
interpretation in which that boundary is reached at some point in time before
(e.g. aorist) or after the moment of utterance (future function), than that the
attainment is simultaneous with the TU. In the modern Slavic languages this
becomes apparent from the fact, for example, that a perfective present is
never used in the actual present (an event going on at the TU). However, in a
number of other contexts Slavic languages allow coincidence of a complete
event and TU to various degrees (cf. Dickey 2000). As I will demonstrate
below in the section on other uses of the present tense (section 8.1.2), this is
also the case in OCS.

To get an idea of the difference between perfective and imperfective verbs
with regard to the expression of futurity, I collected all indicative future
forms in the Greek Gospel texts and compared those forms to the OCS
translations. This resulted in 960 forms in the Greek original, with 2849
equivalents in the four OCS Gospel codices.’ Table 8.1 below shows the
frequencies of the translations of the future tense forms for the four main
aspectual groups and, for comparison purposes, also for VOMs and Leskien’s
class I verbs with partners, which I will treat separately in Chapter 9. I have
given the frequencies pair-wise: on the left side the groups that are positioned
more on the perfective side of the aspect dimension (cf. Chapter 7, Figure 7.7)
compared to their counterpart, on the right side their partners that are
positioned on the imperfective side:

* For counting the future forms in Greek original I used the morphological search function of the
Bible software program BibleWorks 9. I compared the future forms that I found in Greek by hand
with the OCS translations in my Parallel Corpus of OCS Gospel texts.

Interestingly, there are only 40 cases of periphrastic constructions with vaceti ‘start’, naceti ‘start’
and iméti ‘have’ (cf. Birnbaum 1958) translating a Greek future form in the four OCS Gospel
codices. Another more frequently used construction (91 attestations) consists of a future tense
form of byti with a passive participle, which often is perfective, although a few anaspectual verbs
also occur (e.g. perfective prédans bodets ‘he will be delivered’ or anaspectual bveni bodete ‘you
will be scourged’) (cf. Birnbaum 1958: 21-26). Constructions with xotéti are not attested in the
four Gospel codices as translation of a Greek future form.
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Perfective side Imperfective side

Perfective prefixed 914  Imperfective prefixed 22¢
Perfective unprefixed 222 Imperfective unprefixed £
Prefixed determinate VOM 159  Prefixed indeterminate VOM 2
Determinate VOM 44 Indeterminate VOM o)
Leskien II prefixed 76 Leskien II prefixed partner 5
Leskien II unprefixed 17 Leskien II unprefixed partner o
Total 1432 Total 38
Table 8.1 Frequencies of translation of Greek future forms (pair-wise)

In this table the division of the future function between the partners of a pair
is quite clear: the verbs in the groups on the perfective side are the standard
translation for Greek future forms, while the verbs in the groups on the
imperfective side rarely occur in that function. When a perfective present is
used, the usual interpretation is that it concerns a future event, like in the
following examples of both prefixed and unprefixed perfective verbs (and I
could add numerous others): ¢

(95) 1 rece se svtvorjoP™ . razorjoP™ zitbnicg mojQ . i boleso svzizdgr™ . i
soberg™ tu zita moé . i dobro moe [Z, M, A, Sk]
then he said, “This is what I will do: 1 will tear down my barns and
build larger ones, and there I will store all my grain and my goods”
(Luke 12:18)

*Two of these concern a PresAP and one is a periphrastic construction with (ne) iméti ‘have’.

5 Two of these concern a periphrastic construction with naceti ‘start’ + infinitive.

*I found the same association between perfective present and future reference with two present
participles of the perfective verbs roditi se ‘be born™:

da poznaets rods in® . s[ylnovi rodjestei” " sje . i vbstanots povédéti & s[ylnoms svoims [Ps]
that the generation to come might know, even the children yet to be born, that they may arise and
tell them to their children (Psalm 78:6)

In Psalm 21:32 there is a similar example of a present participle of roditi se ‘be born’ translating a
Greek future participle. There are also five examples of present participles of roditi se translating
a Greek present participle. An example can be found in Suprasliensis 238, 1, where it translates
yevvauevos. Interestingly, it has the same future meaning there, namely ‘the one that is to be
born’, in this case Jesus. However, I have found no examples of PresAPs translating a Greek
future participle with other perfective verbs in OCS. I should note that the Greek future participle
is rather rare; in the Gospel texts I found only three attestations (Matthew 27:49, Luke 22: 49 and
John 6:64). In the Book of Psalms there are 6 examples, 4 of which are Greek translations of the
Hebrew word for ‘choir director’, @& otwOnoouévwy.

Regarding the verb roditi se: this verb is a special case if one considers some cognates in modern
Slavic languages that are regarded as imperfective (Polish) or biaspectual (Russian). However, in
OCS there is no reason to regard this as anything other than a perfective verb, just as in modern
BCS, Bulgarian and Macedonian. It has a derived partner (raZdati s¢) and individual attestations
do not give rise to an anaspectual or imperfective interpretation either (Dostal 1954: 87).
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(96) o male bé vérens . nadp mnogy te postavlph™ [Z, M, A, Sk]
you were faithful with a few things, I will put you in charge of many
things (Matthew 25:21)

(97) itpgda avite’™ se znamenie s[y]na ¢[lovécs]skago [Z, M, A, Sk]
and then the sign of the Son of Man will appear in the sky (Matthew
24:30)

(98) nyné véms . éko egoze kolizpdo . prosisi otb blog]a dasts™ ti blog]®
[Z, M, A, Sk]
even now I know that whatever You ask of God, God will give You
(John 11:22)

In the few examples of imperfective present tense forms translating a Greek
future form, it often concerns generalized utterances, like in the following
example with a future form of byti ‘be’ and two imperfective present tense
forms, one of poimati s¢ ‘be taken” and one of ostavijati s¢ ‘be left’”

(99) gllagolljo ze vam® . vb tQ nosts bodete™ dbva . na loZi edinoms .

edinb poemleto™ s¢ a drugy ostaviéeto™™ [Z, M]?
I tell you, on that night there will be two in one bed; one will be taken
and the other will be left (Luke 17:34)°

In example (99) (which is example (28) in Chapter 4), the theme is not one
particular event, but rather a general rule of how life will be at that point, a
context that is very compatible with imperfective aspect such as it is in
modern Slavic languages (cf. also the difference between exemplary use of the
perfective present and generalized use of the imperfective present in OCS,
section 8.1.2.1).

Often, examples with imperfective verbs translating Greek future forms show
variation between codices, which could indicate that the imperfective forms
are not the original translation, but replace perfective forms in an
environment that seems to be more fitting with the general meaning of
imperfective aspect. An interesting example can be found in Matthew 7:8

7 In my interpretation the reflexive pronoun sg is ‘shared’ by the two imperfective verbs. The verb
poimati s¢ is part of an interesting group of verbs (cf. Chapter 9, section 9.5). It appears to behave
as the imperfective partner of pojeti se.

® Based on the analysis in Chapter 9 (section 9.5) I treat prefixed forms of -jeti, -imp ‘take’ as
perfective and prefixed forms of -imati, -jemljp ‘take’ as imperfective in this and the following
example, even though they do not show the prototypical derivational opposition in which the
derived verb has the suffix -ati, -aje- and extra derived forms on -imati, -imajo are attested as
well.

In the following two verses there are more examples of a present tense of ostavijati ‘leave’
translating a Greek future form in a similar context.
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where the Greek original uses two present tense forms (Aayfdaver and
evpioxer) and subsequently a future tense form (dvoryrjoerar) in a generalized
utterance, i.e. and utterance in which the event is not presented as a single
event. This results in the following three OCS translations:

(100) vbsékp bo prosei priemlets™ . i iStei obrétaets™ . i tlpkostumu
otvrozets?™ s¢ [Z, A]
vbsékd bo pros¢i priemleto™ . i idtei obrétaate™ . i tlpkostjumu
otvrezaate™ se¢ [M]
vsakp bo prosei priemlets™ . i iStei obresteto™ . i tlpkostjumu
otvrvzote™ se [Sk]
TG yap 6 aitdv dapPaver™ kai 6 {NTOV edpiorer™ kai 1O KpovovTL
&voryfjoeTas™
for everyone who asks receives, and he who seeks finds, and to him
who knocks it shall be opened (Matthew 7:8)

Zographensis and Assemanianus translate the Greek present forms with a
present tense of the imperfective verbs priimati ‘receive’ and obrétati ‘find’
and the future form with a present tense of the perfective verb otvrésti ‘open’.
This is the expected translation. However, the Greek original uses the two
present tense forms in a similar generalizing function as the future tense
form. This could be the reason why the version in the Marianus uses the
present tense of otvrozati ‘open’, thus straightening out the aspectual
difference between the three events and presenting all three of them as
generalized events. Savvina Kniga, on the other hand, straightens out the
aspectual difference between the second and third form the other way around
and uses a present tense form of the perfective verb obrésti ‘find’ instead of a
present tense form of the imperfective verbs obrétati ‘find’ as found in the
other codices. This shows that the difference between perfective and
imperfective present in OCS is not equal to the difference between future and
present in Greek. Aspectual considerations can be a reason to use an
imperfective present where Greek uses a future form.

There are some instances in which the use of the imperfective forms is not
the result of a generalizing context. Examples of this can be found with the
verbs osramljati se and posramljati s¢ ‘be ashamed’ (6 times in total):
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(101) este Ze iméase edinogo s[y]na . vbzljubenaago svoego . possla i togo
ks nim® poslédi g[lago]le ¢ko posramljajots™ se¢ s[y]lna moego [Z,
M]
he had one more to send, a beloved son; he sent him last of all to them,
saying, “They will respect my son” (Mark 12:6)

Here, the imperfective verb, expressing the terminative event of ‘becoming
ashamed’ refers to a single specific situation, a generalized interpretation
must therefore be ruled out. A possible reason for not using the perfective
posramiti sg is that the event is presented as distributive; the subject is plural,
and the interpretation could be that all of them will become ashamed one by
one when seeing the son. It is also possible that an earlier posramets s¢ ‘they
will respect’ was later changed by a scribe who interpreted this as a more
generalized utterance ‘they respect my son’."

Examples like (99), (100) and (101) show that there is no firm rule that a
Greek future tense can only be translated with a perfective present, or that an
imperfective present could not express futurity. Other than that, however, the
trend is clear: if there is a choice between a perfective and an imperfective
verb to translate a Greek future tense, the perfective verb is the standard
translation. The choice of an imperfective verb requires an additional
explanation, even though it is not always easy to find one (cf. example (101)).
It is interesting to see that the unprefixed VOM:s fit nicely into this system,
even though they are clearly not a Slavic-style aspect pair. I will discuss this
situation more in detail in Chapter 9.

A large number of translations of Greek future forms in the gospel codices
are accounted for by verbs that are not part of a derivational pair, as shows
Table 8.2:

Group

Prefixed without derived partner 417

byti 373

Anaspectual verbs 250

Table 8.2 Frequencies of translation of Greek future forms (no pair)

' Similar examples can be found in Matthew 21:37 [M, A} (where Savvina Kniga has a prefixed
verb postydati se ‘be ashamed’ of which no derived partner is attested) and Luke 20:13 [Z, M]. All
these texts concern the same parable.

" Unfortunately there is only one attestation of a present tense of posramiti s¢ in OCS, in an
optative construction (with the particle da) translating a Greek imperative aorist: da [...]
posramjets se i pogybnote [Ps] ‘let them be humiliated and perish’ (Psalm 82: 18), so I cannot give
a minimal pair.
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Prefixed verbs without derived partner and the verb byti will be discussed in
Chapter 9. The interesting category for the present chapter is the anaspectual
group. Even though the frequency of future translations is not as high as in
the perfective verbs, anaspectual verbs are quite often used to translate Greek
future forms. There are many examples:

(102) slovo eze g[lago]laxs to spdite™ emu . vb poslédeni dens [Z, M]
the word I spoke is what will judge him at the last day (John 12:48)

(103) do kol¢ s vami bodo™ do kolé trapljo™ vass [M, A, Sk]
how long shall I be with you? How long shall I put up with you?
(Matthew 17:17)

(104) ne p’céte s¢ ubo na utréi . otrbni bo dnb sobojo pecets™ s¢ [Z, M, Sk]
so do not worry about tomorrow; for tomorrow will care for itself
(Matthew 6:34)

Even though all these verbs are anaspectual, there is an interesting difference
between the predicates. In (102) the predicate could be seen as referring to a
single complete terminative event, just like a predicate with a perfective verb
would do, while in (103) and (104) the event referred has no clear inherent
boundary. To the best of my knowledge, verbs like tropéti ‘be patient’ and
pesti s¢ ‘care’ are only attested in aterminative predicates, just like, for
example, leZati ‘lie’ and alwkati ‘be hungry’. Even on the rare occasion that
these verbs occur in the aorist, which is a form that expresses a temporally
bounded event, the predicate can still only be interpreted as aterminative:

(105) 1itebé tropéxs ™ vesn dend [Ps]”
and I have waited for you all day (Psalm 24:5)

Verbs like soditi ‘judge’ occur in both terminative and aterminative
predicates. One could say that, although these anaspectual verbs do not
automatically express a terminative event, in the right context (verb form,
object and wider context) a submerged inherent boundary is uncovered. In
other words: these verbs are ‘terminativizable’. In (102) the inherent
boundary is clearly present, introduced by the discrete object emu ‘him’. In
section 8.3.2 [ will come back to the issue of terminativizability of anaspectual
verbs.

In fact, I found that verbs that allow a terminative construal, show
competition with prefixed perfective formations in future use in a
terminative context, which on occasion emerges as variation between codices:

" The same phrase can also be found in Euchologium Sinaiticum (78b 18).
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(106) otb ustd tvoixd spZdoP™ te [M, A]
otb ust® tvoixb 0s9ZdgP™ te [Z]
by your own words I will judge you (Luke 19:22)

(107) nb sivbsé tvorets™ vam®d za ime moe [Z]
n'b Si vbsé sotvorets?™ vamsp za im¢ moe [M, A, Sk]
but all these things they will do to you for My name's sake (John 15:21)

(108) kako vse pritbce uméeter™ [Z]
kako vbs¢ pritvée razuméeter™ [M]
how will you understand all the parables (Mark 4:13)

(109) eize ne vezmogote™ protiviti s¢ i otbvéstati . vsi protivljéjostei se¢
vamb. [Z, M, A]
eize ne mogote’™ protiviti s¢ i otbpvéstati . vsi protivljéjostei s¢ vams.
(Sk]
which none of your opponents will be able to resist or refute (Luke
21:15)

In other cases the competition is not between morphologically related verbs,
but between semantically related verbs, like anaspectual vidéti ‘see’ and
perfective prefixed uzoréti ‘see, catch sight of”:

(110) daidots vb galilejo i tu me videto™ [Z, M, A]
da idot® v galilejo i tu me uzorete™ [Sk]
to leave for Galilee, and there they will see Me (Matthew 28:10)

These examples show that the fact that there is an aspect system as well as the
fact that functions have been divided between the perfective and imperfective
partners, affects the functioning of the anaspectual verbs as well. The frequent
use of anaspectual verbs to translate Greek future forms, indicates that the
division of labour between prefixed perfective verbs and anaspectual verbs is
not the same as between perfective and imperfective verbs. However it seems
reasonable to assume that the more the future context became associated with
perfective verbs, the less it became compatible with other types of verbs, like
the anaspectual verbs. In some cases it seems that in OCS the association
between futurity and perfective aspect is so strong that a prefixed verb is
used, simply to fulfil the condition of the use of a perfective verb to translate a
Greek future tense.” This is how I interpret the following example (already
given as example (44) in Chapter 6) as well:

¥ Cf. the use of delimitative verbs in sequences of events in Russian.
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(111) blazenws ize . ssnéstv™ xI¢bs vb c[ésa]rstvii blo]zii [Z, M]
blessed is everyone who shall eat bread in the kingdom of God (Luke
14:15)

There are more than enough examples of jasti translating a Greek future
tense, but examples like this show that expressing futurity is strongly
associated with the perfective aspect in OCS. In some cases, the use of
prefixed forms in OCS even leads to difficulties in interpretation:

(112) prédadetsP™ bo vy na senbmy . i na sbnbmistixe vasixs . ubvjote’™
vy [Z, M]*
they will hand you over to the courts and scourge (kill? JK) you in their
synagogues (Matthew 10:17)

The prefixed verb ubiti is normally used in the meaning of ‘kill’. In this
particular example, however, the OCS translation uses the prefixed form of
biti to express a future scourging event, translating the Greek future form
(paotiywoovar). It is difficult to see how a difference in meaning between
scourging and Kkilling could be made in this case. In similar attestation the
simplex biti is used to translate a future form of the same Greek verb. In the
following example this could be because of the fact that ubiti is used in the
same utterance in the meaning ‘kill’:

(113) otb nixb ubiete’™ . 1 propbnete?™ . i otb nixb bvete’™ na sonbmistixp
vasix®p . i iZdeneter™ ot® grada ve grada [M, A]"
some of them you will kill and crucify, and some of them you will
scoutge in your synagogues, and persecute from city to city (Matthew

23:34)

8.1.1.1 Special case: the verbs resti and glagolati

A large part of the future translations of anaspectual verbs are accounted for
by the verb resti ‘say’ (82 attestations). Dostal (1954: 65-69) discusses the verb
and comes to the conclusion that resti was probably biaspectual in Proto-
Slavic, based on the attestations of present participles of resti in OCS.
However, he considers the verb to express perfective aspect in OCS as a result
of the already established aspect system in combination with its opposition to
glagolati ‘speak, say’, which Dostal considers to be imperfective. In my
classification, resti and glagolati are both anaspectual verbs, being unprefixed

" Assemanianus has utepote from uteti which in OCS is only attested 4 times, all 4 times in the
meaning of ‘beat up’. In Modern Bulgarian and in Modern Macedonian dialects this verb means
kill’.

" Assemanianus has a present tense form of anaspectual teti ‘scourge’ instead of a present tense of
biti.
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without a partner. When it comes to the translation of Greek future forms,
the verb glagolati is also opposed to vezglagolati, in its meaning of ‘speak’. In
the following example, there are forms of all three verbs; glagolati translating
an aorist of the Greek verb Aadéw ‘speak’, resti translating a subjunctive aorist
of the verb Aéyw ‘say’ and vezglagolati translating a subjunctive aorist of
Aadéw again.

(114) ¢éko azp o sebé ne g[lago]laxs™ . nb posvlavy me o[tb]ch . tb mbné
zapovéds dasts ¢bto rekoP™ i Cpto vezglagolo™™ [Z, M]
for I did not speak on My own initiative, but the Father Himself who
sent Me has given Me a commandment as to what to say and what to
speak (John 12:49)

In this example, only glagolati is used in an aterminative sense, while both
resti and vozglagolati occur in a terminative predicate. The difference
between resti and vezglagolati is lexical, similar to the difference between
English say and speak. The verbs glagolati and vezglagolati both translate the
same Greek verb, Aadéw ‘speak’, and do not express a lexical difference. Their
relation can be compared to that between spditi, which occurs in both
terminative and aterminative predicates and ospditi, which can only be used
in terminative predicates. I have also found variation between codices in
which glagolati occurs in a periphrastic future construction in one codex,
while other codices have vazglagolati or simply a present tense of glagolati,
again reminiscent of the variation found between anaspectual verbs and
prefixed formations in the examples (106) - (110):

(115) egda ze prédadets vy . ne pcéte se kako li ¢vto vezg[lago]lete?™ . dasts
bo s¢ vam® v tb ¢asb . ¢pto gllago]leter™ [Z, M]
egda ze prédadets vy . ne pcéte s¢ kako li ¢bto imate”™ g[lago]lati™t .
dast® bo s¢ vam® vb tb ¢ass . ¢bto gllago]leter™ [A]
but when they hand you over, do not worry about how or what you
are to speak; for it will be given you in that hour what you are to speak
(Matthew 10:19, my translation)

Hence, when it comes to the translation of forms of AaAéw ‘speak’, OCS
usually uses either a form of glagolati or of vezglagolati. This is consistent
with the classification of glagolati as an anaspectual verb. However, the
translation of the present tense of Aéyw ‘say’ is the domain of glagolati as well,
and when Aéyw is the Greek original, there is an opposition with resti that is
strongly reminiscent of an aspect opposition: the present tense of resti is used
to translate subjunctive aorist forms of Aéyw ‘say’ (has no future form) or
future forms of épéw which also means ‘say’. In this sense, the usage of
glagolati is always terminative, the inherent boundary is formed by the
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message, while in the sense ‘speak’ it expresses no inherent boundary. An
example of this terminative use of glagolati is:

(116) sego radi g[lago]ljo’™ vam® . ne p’céte s¢ d[u]sejo svoejo [Z, M, A, Sk]
for this reason I say to you, do not be worried about your life
(Matthew 6:25)

The verb resti is used in the same sense, normally with future meaning. In
example (117) it is a translation of a future form of épéw, while in (118) the
Greek original has a subjunctive aorist of Aéyw:

(117) vbstave ideP*™ kb o[tp]cju moemu . i rekgP™* emu . o[tb|Ce sBErésixy
na nle]bo i préds tobojo [Z, M, A, Sk]
I will get up and go to my father, and will say to him, “Father, I have
sinned against heaven, and in your sight” (Luke 15:18)

(118) vbprosoP* i azp vy edinogo slovese . otbvéstaite mi . i rekoP™ vamb
koejo oblastijg se tvorjo [Z, M]
I will ask you one question, and you answer Me, and then I will tell
you by what authority I do these things (Mark 11:29)

There are some exceptions to the general rule as well, in which a present
tense of redti is used to translate a Greek present (27 attestations in the
material of Dostal 1954: 65):

(119) tpgda recets™ . vbzvrastQ s¢ vb xramd moi . i priSpdp obrestetn™
prazdens [Z, M]
then it says, “I will return to my house from which I came”; and when
it comes, it finds it unoccupied (Matthew 12:44)

In this example a present tense forms of Greek Aéyw is translated by a present
tense form of resti, and the subsequent present tense form, from the
perfective verb obrésti find’ also translates a Greek present tense form
evpioker.® Both events do not refer to a specific event, but rather to exemplary
event, as shown by Matthew 12:43, where the story starts with ‘Now when the
unclean spirit goes out of a man [..]". In section 8.1.2.1, I will show that
perfective present forms regularly occur in such exemplary use. Hence, even
if the opposition between resti and glagolati is not completely equal to that of
the core aspect pairs, the division of labour in these cases is equal to that of an
aspect pair. In section 9.4 I will demonstrate that the unprefixed VOMs show

T do not consider the perfective present vezvrastp here, because it is part of the quoted
utterance in direct speech.
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a similar division of labour, even though these verbs cannot be regarded as an
aspect pair.

In the following sections, I will discuss some more examples of resti to show
how it behaves in other contexts and analyse some of the attestations that
Dostal considers to show the original biaspectuality of the verb.” The
opposition between resti and glagolati will get more attention in section
8.2.2.2 where I discuss the imperfective aorist and in section 8.3.4 where I
discuss a number of dubious anaspectual verbs.

8.1.2 Other uses of the present tense
8.1.2.1 Multiple or generalized events

The use of imperfective verbs translating a Greek future tense is rare. The few
examples that I discussed above show that imperfective verbs are used in
unbounded predicates. This unboundedness often results in a generalized
interpretation; when a terminative verb is used the predicate does not refer to
the occurrence of a single complete event at the micro-level, but to
unboundedness at the macro-level (cf. Chapter 2). However, perfective verbs
may occur in similar utterances as well. Example (119) in the preceding
section shows such a case, with the verb obrésti ‘find’. This use of perfective
verbs can be compared to what Forsyth (1970: 173) calls ‘singularization’, or
exemplary use, for Modern Russian: a single complete event is singled out as
an example of a general rule. With such generalized utterances the
implication is not so much that the event occurs on more occasions, but
rather that the event will occur when the right circumstances occur. Compare
the following example in which OCS (again, as in (119)) translates Greek
present tense forms with perfective present tense forms:"

(120) i g[lago]ljo . semu idi"™" . i idets?™ i drugumu pridi™" . i prideto?™ . i
rabu moemu sbtvori™ se i satvorite™™ [Z, M, A, Sk]
and I say to this one, “Go!” and he goes, and to another, “Come!” and
he comes, and to my slave, “Do this!” and he does it (Matthew 8:9)

An English translation with ‘will’ probably comes closest to the OCS version
here: °[...] “Come” and he will come, and to my slave, “Do this” and he will

7 Since resti is a very frequent verb, with 3878 attestations in my database, I reran my CA of the
five core groups, now with the anaspectual group without the verb resti. In this test, the aspect
dimension accounts for 98.9% of the variance and the anaspectual group moves a little further
towards the imperfective side of the aspect dimension. However, the difference with the
imperfective groups is still significant with a medium effect size. X2 (6) =636.89, p < o.001,
Cramér’s V = 0.288.

" The verb priiti is a prefixed VOM, of which I will demonstrate in Chapter 9 (section 9.3) that it
behaves like a perfective verb.



172 VERBAL ASPECT IN OLD CHURCH SLAVONIC

do it’. This shows that in English too the same form can be used for future
reference and for generalized utterances.”

Other constructions in which perfective verbs are often used in generalized
expressions are constructions starting with ‘whoever ...” or ‘everyone who
..., like the following example, where the present tense of perfective vozoréti
‘look’ translates the Greek present active participle 0 fAénwv:

(121) azp ze g[lago]ljo vamb . ¢ko vesékn iZe vezwrits™ na Zeng sb
poxotijo . uze ljuby sptvori®” sb nejo . v srpdbci svoems [Z, M]
but I say to you that everyone who looks at a woman with lust for her
has already committed adultery with her in his heart (Matthew 5:28)

The use of constructions like ‘everyone who’ as in (121) “creates a kind of
singular representative instance” (Dickey 2000: 74), hence a context in which,
once again, the event is exemplary.

In all these uses, the perfective verb refers to a single complete event,
emphasizes the totality on the micro-level, while the context gives the
information that it concerns a generalized event.”® There are also cases,
however, in which the perfective aspect refers to multiple complete events,
while expressing totality on both the micro-level and the macro-level. These
are cases of so-called bounded repetition:

(122) préide daze kokotp ne vezglasite®™™ dbva kraty . otevreZesi™ se¢
mene tri kraty [M, Z]
before a rooster crows twice, you will deny Me three times (Mark
14:72)

In this example the present tense of the perfective verb vezglasiti ‘call out’
refers to two complete events and, hence, to a bounded series of repetition.
The present tense of this prefixed verb is used to express bounded repetition;
it refers to three complete events of denying and expresses that those three

¥ Comparison with the modern Slavic translation is also very interesting. There is much
variation: some languages, like BCS and Czech, behave as OCS and have perfective presents,
while other languages, like Russian, Bulgarian and Macedonian, have imperfective (and
anaspectual?) presents instead of perfective presents (e.g. Russian prixodit and delaet). This fits
with Dickey’s (2000) idea that the languages in the eastern group of Slavic put more restrictions
on the use of the perfective present in habitual expressions than languages from the western
group, or the transitional zones.

** Given the fact that the use of the perfective aspect in habitual expression in the eastern group is
much more restricted, it is possible that ‘singularization’ is a more marked function in e.g.
Russian as compared to Czech, or OCS, where the use of perfective aspect in habitual expressions
is relatively wide-spread. However, I believe that the mechanism is the same: one event is used as
a representation for a general rule.
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times makes up the complete series of repetitive events. This is the main
difference with imperfective verbs that refers to unboundedness on the
macro-level. The verb vezglasati, the imperfective partner of vezglasiti
provides a good example of the difference:

(123) podobend estp détidfemd . sédeStemd  na trezitixp . iZe
vozglasajote* drugoms svoims [Z, M]
it is like children sitting in the market places, who call out to the other
children (Matthew 11:16)

In this example the calling out to their peers is not restricted to a fixed
number of repetitions, but rather refers to the regularity of the occurrence of
the event (cf. Carlson 2012: 829). The individual micro-events are interpreted
as complete in this context, otherwise one would get a series of conative
events, which does not make sense here. However, the imperfective verb itself
does not express anything about that totality; in other contexts, however, the
unboundedness results exactly in a conative reading, as I will demonstrate
below in section 8.1.2.2 and 8.2.1.2.

In constructions with ‘whoever ...’ or ‘everyone who ..., imperfective
presents (as well as the anaspectual present, e.g. in this example slysati ‘hear”)
also occur regularly, just like perfective presents (cf. (121)):

(124) vsékp ize slysite™ slovesa c[ésa]r[bstvi]é . i ne razumévaets™ .
prixodits™™ nepriézns . i vosxystaets?™ séanoe vb srpdbci ego [Z, M]
when anyone hears the word of the kingdom and does not understand
it, the evil one comes and snatches away what has been sown in his
heart (Matthew 13:19)

When imperfective verbs are used like this, instead of perfective verbs, there
are two differences with the use of perfective present in the same context.
First, the emphasis lies on the unboundedness at the macro-level, and not at
the level of an individual complete event. So the event is not ‘singled out’, but
presented as a regularity. Secondly, since the events are not explicitly
presented as complete, an interpretation in which the events on the micro-
level overlap is possible.

Imperfective verbs are used in a similar vein to express a general truth:

(125) ni velivajots™ vina nova . vb méxy vetsxy [M]
nor do people put new wine into old wineskins (Matthew 9:17)

This gnomic present is clearly based on the habits of people, but abstracts
away from those habits to a general rule. It is often difficult to distinguish
between an imperfective verb used in a generalized context and one in a
habitual utterance, however, the following example is a clear example of a
habitual utterance, referring to the habits of Jesus’ disciples:
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(126) po <¢wto ulenici tvoi préstgpajote™ . prédaanie starbch . ne
omyvajots?™ bo roks svoixs . egda xlébs édets™ [Z, M]
why do Your disciples break the tradition of the elders? For they do
not wash their hands when they eat bread (Matthew 15:2)

Sometimes the repetition is even more strongly connected to a particular
moment in time, like the lamps going out one by one in the following
example:

(127) dadite nam® otb oléé vasego . ¢ko svétilbnici nasi ugasajote™ [Z, M,
A, Sk]
give us some of your oil, for our lamps are going out (Matthew 25:8)

When used like this, the imperfective verbs come close to expressing a single
process, since the event is so clearly connected to a specific point in time.
There are two possible interpretations here: an iterative/distributive situation
in which the lamps are already going out one by one, but not all lamps have
gone out yet, or an imminent situation: the lamps are not out yet, but in all of
them the oil is almost finished. In both cases the interpretation has a durative
component; the event unfolds itself in the direction of an inherent boundary
and can be seen as an instance of an actual present (cf. examples (128) and
(120)).

I have shown that in OCS both perfective and imperfective verbs are used to
refer to generalized events or multiple events. When perfective verbs are used
in such contexts, either a single complete event is presented as exemplary for
other events and the boundedness on the micro-level is in focus, or it
concerns a bounded number of repetitions. Imperfective verbs are used to
focus on the unboundedness on the macro-level, while the attainment of the
inherent boundary on the micro-level is implicit, or stays unclear. In the next
section I will discuss examples in which the inherent boundary on the micro-
level is explicitly denied (conativity).

8.1.2.2 Single events

While perfective verbs in the present tense always express a single event, the
imperfective present is also used to refer to single events. The difference with
perfective verbs is that imperfective presents are used when for some reason
there is a need to defocus the inherent boundary of the verbs. Below, I will
discuss a number of contexts in which imperfective presents refer to single
events.

The first context is the actual present, a present tense used to refer to an event
that is going on at the TU (cf. also example (127)). This use is relatively rare in
OCS, because most of the texts are narratives and the actual present only
occurs in direct speech. However, there are some attestations, often in
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questions like ‘why are you ...ing". I have given some examples of this
phenomenon in Chapter 6 already, showing that both anaspectual verbs and
imperfective verbs occur in the actual present. Compare the present tense of
anaspectual szpati ‘sleep’ in (128) and imperfective otrésati ‘untie’ (also given
as example (42) in Chapter 6) in (129):

(128) irece im® Cbto svpite?™™ [Z, M]
and said to them, “Why are you sleeping” (Luke 22:46)

(129) otrédajostema ze ima Zréba . réd¢ glospoldee ego kb nima . ¢pto
otrésaeta®™ zréba [Z, M|
as they were untying the colt, its owners said to them, “Why are you
untying the colt” (Luke 19:33)

The difference between anaspectual verbs and imperfective verbs in the actual
present is subtle; anaspectual verbs express an event that has no inherent
boundary, while imperfective verbs are inherently terminative and in the
actual present focus on the process before the attainment of the boundary.
The subtlety of the difference is emphasized by variation between codices in
this context, with in the following example a present tense of anaspectual
mysliti think’ and imperfective pomysijati ‘think, consider”:

(130) i vidévs is[usp] pomyslenié ix®b . rece . vbskgjo vy myslite™* zblo vb
srpdbcixsb vasixs [Z, M)
i vidévp is[us]® pommpislenié ixp rece . vbskojo vy pomysléeter™ zplo
v srdcixs vasix [A, Sk]
and Jesus knowing their thoughts said, “Why are you thinking evil in
your hearts” (Matthew 9:4)

The anaspectual verb refers to the actual thought process at the moment of
utterance, while the imperfective verbs may carry the nuance of a more
generalized event or iterativity. A possible interpretation is therefore ‘why are
you always thinking (making up?) evil thoughts in your hearts’, in which case
it is no longer an actual present, of course, but a generalized event.

Anaspectual verbs can also be used to express states that hold at the moment
of speech. In (131) this concerns a transitory state that holds specifically at the
moment of utterance, like with the verb iméti ‘have’, in (133) it concerns a
permanent state (cf. Croft 2012: 58):

(131) gllago]la Ze im® is[usp] . déti . eda ¢pto spnédeno imate™™ [Z, M, A,
Sk]
so Jesus said to them “children, do you have something to eat”(John
21:5)
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(132) otwvésta imb is[uss] . nyné li véruete™ [Z, M, A, Sk]
Jesus answered them, “Do you now believe” (John 16:31)

Imperfective verbs can also be used to refer to single events is in a conative
function. With conativity, the terminativity of the verb is not a hindrance, but
rather a prerequisite in OCS, since it is exactly the defocusing of the inherent
boundary that results in a conative interpretation. Anaspectual verbs do not
have an inherent boundary and, hence, cannot be used to defocus such a
boundary either. Although there are not many examples of conative use in
the present tense (there are more examples in the imperfect, see the end of
section 8.2.1.2), I believe the following examples could be interpreted as
referring to a failed attempt:

(133) razuméve ze is[usp] . lokavbstvo ixb rece . ¢pto me okusaate’™
ipokriti [M, A, Sk]
but Jesus perceived their malice, and said, “Why are you trying to
tempt Me, you hypocrites” (Matthew 22:18, my translation)

The example could also be translated as ‘why are you testing me’, as in the
English translation. Whichever way it is translated, the test clearly fails, since
Jesus ‘perceived their malice’. Also, an iterative interpretation cannot be ruled
out: ‘why are you testing me all the time’.

A third context in which an imperfective present refers to a single event is on
the rare occasion that a historical present is attested in OCS, almost always
imitating the Greek original (Galton 1976: 29-30):

(134) 1 posylajote™ kb nemu uleniky svoje [M, A]*
and they sent their disciples to Him (Matthew 22:16)

In this example an imperfective verb is used to refer to a single complete
event, which is normally the domain of perfective verbs. However, there is a
clash between on the one hand the totality of the event as it is known from
the past and the way the event is presented as if it were occurring at the
moment of speech. It is the simultaneity with the TU that in this OCS
example is probably responsible for the choice for imperfective aspect.

For the historical present or narrative present and other atypical tense uses
(e.g. backchecking), Klein (1994: 139) distinguishes between a ‘real’ time of
the situation (which is when the event really obtains) and the ‘imagined’ time
of the situation, which is the event as it is presented in relation to the chosen
topic time. According to Klein the speaker chooses either, or may even switch
to create particular connotations. In OCS the choice of imperfective aspect in

* Note that Savvina Kniga has an aorist posslase of the perfective verb posslati.
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the historical present, as in (134) may be explained by the choice of the
imagined time of the situation: the event is presented as if it takes place at the
moment of utterance. It is, however, problematic that this concerns an
achievement, hence a verb without a process phase. It is not entirely clear to
me how such an event would be visualized as actually taking place. Another
explanation of the historical present is that it is used to highlight an
important event in a series of past events. Rijksbaron (Lallot, Rijksbaron,
Bernard & Buijs 2011: 4-10) discusses the functions and semantic features of
the historical present in Classical Greek and claims that the function of the
historical present is to highlight ‘decisive events’, which are almost always
exclusively accomplishments or achievements. This could be an explanation
for the use of the historical present in Matthew 22:16 as well. However, the
extra complication in OCS, as compared to Greek, is that this still does not
explain why an imperfective form is used, as opposed to a perfective form.
Maybe perfective presents are only used in sequences of historical presents.
The one example I found contains present tense forms of the perfective aviti
s ‘appear’ and the prefixed verbs without a derived partner uslysati ‘hear’,
translating the Greek present tense forms drmoxaAdnrerar and dxover:

(135) i abbje tomuzde avits™* se¢ eplisko]pu . i glas[p] uslysite?™ pritrans
glagolosts k nemu [S]
and immediately he appears to the same bishop, and he hears a clear
voice saying to him (530, 10-11)

It is noteworthy that these present tense forms appear after the adverb abvje
‘immediately’. Modern Czech uses perfective present forms in the historical
present after such adverbs, denoting a sudden change of situation (Stunova
1993: 178). In this respect, Czech deviates from Russian, which uses perfective
present only under much stricter conditions in narrative contexts (Stunovd
1993: 191, Dickey 2000: 154). The small number of examples of historical
present in OCS, does not allow for a more detailed analysis.

Finally, imperfective verbs also refer to single complete acts in performative
language, in which the utterance itself constitutes an event, a so-called
‘speech act’ (cf. Austin 1962). In this context there is competition between
imperfective and perfective verbs again. Compare the following two
examples, both translating a Greek present tense form d/dwy: ‘T give’; the first
one uses a present tense of the imperfective dajati ‘give’, the second a present
tense of perfective dati ‘give’:
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(136) zapovédb novg dajo™ vams [Z, A, Sk]*
a new commandment I give to you (John 13:34)

(137) se polb iméni¢ moego glospod]i . damv™™ nistiims [Z, M, A]*
behold, Lord, half of my possessions I give to the poor (Luke 19:8, my
translation)

The variation in the translation of 8idwy: is substantial, apart from the
example of present tense of dati and dajati there is an example with a present
tense of prédati, and an example showing variation between an aorist of dati
and the present tense of dajati:

(138) ¢ko mené prédana est® . i emuze aste xo8tQ prédamv?™ jo [M]
for it has been handed over to me, and I give it to whomever I wish
(Luke 4:6)

(139) se dax®* vamms vlastb . nastopati na zmbsje¢ . i skorspije [Z, A, Sk]
se dajo™ vamp vlaste nastopati na zmij¢ i skorppije [M]
behold, I give you authority to tread on serpents and scorpions (Luke
10:19, my translation)

I should note here that the critical text (as established by the United Bible
Societies) of Luke 10:19 has a perfect §édwka, while the Byzantine text on
which the OCS translation is based has the present tense §/dwpur. Whichever
form is used, the word ido0 ‘behold’, in OCS se, shows that this is still
performative language: by speaking those words Jesus transfers his authority.
Interestingly, Greek shows this variation between perfect and present tense
more often in performatives. I found an example in Matthew 9:2, where the
critical text has a present passive &gpievrad, while the Byzantine text has a
perfect passive &péwvrai** It is not clear to me whether this variation is the
cause of the variation between the OCS codices, or that both Greek and OCS
allow different forms in such performative utterances. In this case only
Savvina Kniga uses a perfective present and the three other codices an
imperfective present:

** Marianus has povédajo, a present tense of povédati ‘proclaim, announce, show’ (cf. Chapter 9,
section 9.5).

* This could also be interpreted as an intention, and not the actual event of giving. However, the
Greek original has a present tense form, didwpu, which in my opinion sanctions a performative
reading.

**In the critical text both forms occur. For example, in Luke 5:20 the perfect dpéwvrai is used. In
the Byzantine text I found no examples of doievrar.
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(140) drbzai ¢edo otwpustajote™ ti se grési tvoi [Z, M, A]
nadéi s¢ ¢edo . otadadets™ ti se grési [Sk]
take courage, son; your sins are forgiven (Matthew 9:2)

The variation between the codices in OCS in this context is interesting given
the fact that choice of aspect in performatives differs strongly between
modern Slavic languages (cf. Dickey 2000, Zagar 2011, Kamphuis 2012). The
paradox with performatives is that the event that is expressed is tantamount
to the utterance itself and, therefore, simultaneous to the moment of speech,
much like ordinary actual presents, but at the same time it is perceived as a
complete event (cf. Koschmieder 1930). A choice for the imperfective aspect
is a choice for emphasizing that the event occurs simultaneous to the
moment of speech, while the choice for perfective aspect emphasizes the fact
that the effect of the performative is instantaneous: the event is complete. The
choice also depends on the specific meaning of the aspect in a specific
language. As Dickey (2000: 201) puts it “the more limited degree of
coincidence in the east results from the greater incompatibility of the concept
of temporal definiteness with present situations, including those that can be
identified as totalities more or less simultaneous to the moment of utterance”.

25

The examples above may have given the impression that the choice for either
perfective or imperfective aspect is completely free in OCS. However, in OCS
imperfective verbs are more frequent in this context. For example, Savvina
Kniga has a form of imperfective otvdajati ‘forgive’ in Matthew ¢:5, three
verses after the verse in example (140), and all other translations of Greek
&péwvtau are translated by otepustajots se in all four codices (Mark 2:5, 2:9,
Luke 5:20, 5:23, 7:47, 7:48). Given the fact that derived verbs are the ‘new kids
on the block’, this division of labour indicates that they had largely taken over
in this context in OCS, just as perfective verbs had become the standard
choice in future contexts.

Anaspectual verbs also occur in performatives, like the following:

(141) otvrése Ze s¢ usta ego abie . i jez[ylkp ego . i g[lago]laase
bl[agoslovl]jor™ b[og]a [A]*
and at once his mouth was opened and his tongue loosed, and he
began to speak, “I praise God” (Luke 1:64, my translation)

There are also very frequent examples of the verb glagolati in such contexts,
even though it may not be a prototypical performative verb:”

*» Dickey (2000) discusses performatives and other verbs that refer to a complete event that are
simultaneous to the moment of utterance as cases of ‘coincidence’: event and utterance coincide.
*¢ The other codices follow the Greek original with a present active participle.
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(142) amin’ g[lago]ljo*™ vams [Z, M]
truly I say to you (Mark 14:9)

I have not found examples of resti ‘say’ in this context, however, in Chapter
10 I will discuss an instance of the use of the perfective present sakaZp ‘I (will)
tell” in a performative context:

(143) svkazo™ ze vamb kogo uboite s¢ . uboite s¢ . imostaago vlasts . po
ubienii vbvrésti ve geong . ei g[lago]ljo vams . togo uboite s¢ [A]
but I will warn you whom to fear: fear the One who, after He has
killed, has authority to cast into hell; yes, I tell you, fear Him (Luke

12:5)

Similar variation between perfective and imperfective verba dicendi is, again,
also found in modern Slavic languages (cf. Dickey 2000: 177-188).

8.2 Aorist and imperfect

As T already remarked in Chapter 6, in most cases aorist and imperfect
express the same relation between TU and TA: TA lies before TU, in other
words: they are both past tenses.”® The difference between them is aspectual:
aorist presents an event as temporally bounded, while the imperfect
defocuses any boundaries of an event. Galton (1976: 140-141) describes the
(perfective) aorist as follows:

“[...] each occurrence is quite schematically characterized by “was not - was -

» e« » s « » o I » :
was over’; its “was not” is the “was over” of its predecessor, its “was over’ 1s
the “was not” of its successor.”

In other words, the aorist moves the narration ahead by sequentially ordering
past events. Below, I will also discuss non-narrative use of the aorist which
occurs in the so-called retrospective mode.The imperfect is best understood
in opposition to the aorist and, according to Galton (1976: 141) the
imperfective imperfect “give[s] us a chance to pause and consider, to reflect
and depict, wearied as we are by the eternal flow” and “can never by itself
constitute a story” (ibidem: 167), but needs explicit or implicit support from
(an)other event(s) (ibidem: 144). The imperfect only refers to the “was”, but

7 Verba dicendi probably better fit the definition of coincidence than that of performatives, but
this does not make a difference for this discussion. Note (to make this even more complicated):
coincidence is actually only used for perfective presents that refer to events that transpire
simultaneously to the moment of utterance. Hence, glagoljo in example (142) is in fact not a case
of coincidence, while svkazp in example (143) is.

*In retrospective mode the aorist expresses simultaneity of TU and TA and TS as bounded
before TA (cf. section 8.2.1.1).
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not to the “was not” and “was over” and does not localize an event within the
sequence of narrated events. The imperfect makes contact with the event(s)
supporting it, but not by means of its boundaries, rather the actual event (cf.
Barentsen’s Y in Figure 2.6, Barentsen 1985: 61, 1995: 17) coincides with
another event.

It is important to note once more that the aorist can be used to present an
aterminative event as temporally bounded; the aorist in OCS is not concerned
with an inherent boundary, but it expresses a temporal boundary, which is
why the inflectional opposition aorist-imperfect in OCS can be regarded as a
Romance-style aspect opposition. For example, the verb plesati ‘dance” does
not express an inherent boundary and is thus aterminative. However, in OCS,
as in Greek, a dancing event can be presented as a temporally bounded event
by using the aorist:

(144) dene Ze byvbdju . rozdsstva irodova . plesa®* dpéti irodiédina posrédé
.1ugodi irodu [Z, M]
but when Herod’s birthday came, the daughter of Herodias danced
before them and pleased Herod (Matthew 14:6)

Of course, one could translate this with a terminative predicate, something
like ‘performed her dance’, but that is not exactly what plesa expresses, it is
simply the reference to an activity that lasted for some time and then stopped,
which is what the English translation danced also expresses. So even though
one could refer to the predicate in (144) as expressing a total event, this is a
Romance-style totality, not a Slavic-style totality.

Galton (1976: 141, 154-155) remarks that aorists like plesa, which he calls
imperfective aorists, have a sequencing function, just as the perfective aorists,
and do not make us sojourn like the imperfect does. In other words, these
forms carry the story forward as well, no inherent boundary is needed for
that.

From the description by Galton it becomes clear why the aorist is so
compatible with perfective verbs. Perfective verbs in OCS are all terminative
verbs, lexically made up of the sequence ‘was not - was - was over’ and always
express this complete sequence (cf. Chapter 2), and the aorist fits perfectly
into that mould. One could even say that the aorist is the unmarked past
tense for perfective verbs (cf. Galton 1976: 142): it does not add anything to
the meaning of the perfective verbs, it only places the perfective event in the
past (TA before TU).

For the same reason that the aorist is highly compatible with perfective
aspect, however, the imperfect is not very compatible with perfective aspect.
The perfective aspect expresses the totality of a single terminative event (or a
well-defined number of such events) while the imperfect defocuses the
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boundaries of an event. This is why perfective aspect and imperfect are
largely incompatible and only occur in very specialized contexts.

Imperfective verbs, which lexically also consist of the chain ‘was not - was -
was over’, since they are terminative (cf. Chapter 2), are a misfit for the aorist,
since the imperfective aspect that these verbs express functions as a way of
defocusing the change of state from ‘was not’ to ‘was over’, which clashes
with the meaning of the aorist, which refers to a temporally bounded event.
While in perfective verbs the inherent boundary provides a natural landing
spot for a temporal boundary, the defocusing of the inherent boundary in
imperfective verbs leaves little room for the placement of a temporal
boundary. Therefore, the imperfective aspect of the verb results in a
restriction of its use in the aorist. Amse-de Jong (1974: 43) even considers this
restriction as being absolute in OCS; in her opinion a combination of an
imperfective verb with the aorist is impossible. Below, however, I will discuss
some examples of aorists of imperfective verbs that show that even though
aorist and imperfective aspect are largely incompatible, they do seem to occur
in very specialized types of usage in OCS.

The imperfect, on the other hand, fits perfectly into the imperfective mould.
Both are used to express an unbounded event, not the change of one state
into another. Amse-de Jong (1974: 44) remarks that the imperfect does not
add anything to the meaning of an imperfective verbs, except for the past
tense reference. In this regard the relationship between the imperfect and
imperfective verbs is reminiscent of that of the aorist and perfective verbs; the
imperfect could be seen as the unmarked past tense for imperfective verbs.”

At first sight the imperfect seems incompatible with the perfective aspect.
How could a form express unboundedness and the attainment of an inherent
boundary at the same time? However, there are clear examples of perfective
imperfects in OCS and their occurrence is not controversial, unlike that of
imperfective aorists. Still, in my opinion the incompatibility between the two
is comparable to that of imperfective aorists.

Below I will first discuss the ‘normal’ combinations: perfective aorist and
imperfective imperfect and, where necessary, compare them to aorists and
imperfects of anaspectual verbs. After this, I will turn to the more specialized
uses that the imperfective aorist and perfective imperfect occur in.

* Since I have not found any evidence of the imperfect being used in retrospective mode, I could
add here that the imperfect restricts the use of the verb to narrative mode, in which it always
needs the support of (an)other event(s). This is not the case with the imperfective aspect, which
can be used, for example, in a generalized statement in the present tense without the need for
support of another event.
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8.2.1 Perfective aorists and imperfective imperfects

There are basically two types of past tense modes: narrative and retrospective
(cf. Barentsen 1992: 14, 2003b: 426-428). In the narrative mode the events are
presented as connected with other events, while in the retrospective mode the
events are presented as connected to the moment of utterance. When verb
forms are used in the retrospective mode, this can be called the ‘perfect use’
of that form (cf. Fortuin & Kamphuis 2015: 189-190). Maslov (1990) defines
the perfect as follows:

“[A]n aspecto-temporal form of the verb, expressing a present state as a result
of a preceding action or change, and / or expressing a past action, event or
state that is somehow important to the present and is considered from the
present point of view, detached from other past facts.”*° (Translation
Lindstedt 2000: 365-366)

Some usage types of aspect are typical of one of the types. For example, the
general factual (cf. section 2.2.1) is typical of the retrospective mode. I will
discuss a number of typical usages of aspect in both modes below.

8.2.1.1 Retrospective mode

The perfective aorist always refers to a complete event. In retrospective mode,
the complete event is looked back upon from the moment of speech, which I
call the ‘perfect function’ of the aorist, while in narrative mode the aorist is
used to chain the events together, the ‘was over’ of one event being the ‘was
not’ of the next. Examples of the perfective aorist in retrospective use are:

(145) o[tp]¢e . svgrésixe® na n[elbo i préds tobojo [Z, M, A, Sk]
Father, I have sinned against heaven and in your sight (Luke 15:21)

(146) pokaite s¢ . priblizi*™ bo se c[¢sa]r[b]stvo n[e]besbnoe [A, Sk]
repent, for the kingdom of heaven is at hand (Matthew 3:2)

In the English Bible translation, the perfect of the Greek original in example
(146), #jyyixev, is translated with a present tense form, thus expressing the
relevance of the nearing of the kingdom of heaven for the moment of
utterance. In OCS it literally says that the kingdom has come near, which puts
more emphasis on the past arriving event, while the retrospective context, at
the same time, is responsible for the connection of the event to the moment
of utterance.

3 Maslov refers to the perfect as a specific verb form. The definition is, however, applicable to the
OCS aorist in retrospective use as well.
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In Chapter 6, section 6.7, I discussed the perfect in OCS and the fact that it is
difficult to find a difference in meaning between the aorist and the perfect.
The only clear difference I found, is that the perfect in OCS is never used in
narrative mode, unlike the past tense in most modern Slavic languages that
has the same morphological background. So the perfect in OCS is a true
perfect, while in most modern Slavic languages that what was originally a
perfect, is now only a past tense, which is used in narrative mode as well. As
Lindstedt (2000: 371) puts it: “when a perfect can be used as a narrative tense
[...] it has ceased to be a perfect”. So while the original perfect is the most
versatile (and often the only) past tense in many modern Slavic languages, in
OCS the aorist has that role, occurring in both retrospective and narrative
mode. An example of a perfective aorist and perfect in a single retrospective
utterance can be found in John 12:40:

(147) oslépi*™ o&i ix®b . i okaménile™*!! estaP™ srdca ixb [M, Z, A]
He has blinded their eyes and He hardened their heart (John 12:40)*

In this retrospective example the perfective verbs are not ordered
sequentially, as they would be in narrative mode, but both perfective verbs
are connected to the moment of speech.

Anaspectual aorists also occur in retrospective mode. In a terminative
construal there is little difference with the perfective aorist, the attainment of
the (temporal) boundary is relevant to the moment of utterance, like in the
following example:

(148) ¢ko vidéve me vérova™ [Z, M, A]
because you have seen Me, have you believed (John 20:29)

The aorist vérova ‘you believed’, translating the Greek perfect ébpakdg, refers
to the moment that Thomas saw Jesus and took faith in the fact that He had
indeed risen from the death. The predicate could thus be interpreted as
terminative. In modern Slavic it is often translated with a perfective past
tense, e.g. ty poveril’f in Russian, povjerovao® si in Croatian, or uvéfil® jsi in
Czech, to express the fact that it is the resulting state of taking faith that the
verb refers to.?* Other anaspectual verbs, that are less easily construed as
terminative, simply denote the occurrence of the event at some point before
the moment of utterance (cf. Chapter 2):

* What makes this example even more interesting is that it does the opposite of the Greek
original, which starts with the perfect rervpAwxev ‘he has blinded” and subsequently has an aorist
nenwpwkey ‘he hardened’, as can also be seen in the English translation of the example.

# Bulgarian (povjarva) and Macedonian (poveruva) use perfective aorists, showing that this
retrospective use of the aorist is still alive and kicking in the modern Slavic languages.
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(149) sviraxom®*' vamd i ne plesaste . plakaxoms* se vamb i ne
plakaste™ [Z, M]»
we played the flute for you, and you did not dance; we sang a dirge,
and you did not weep (Luke 7:32)

(150) azb vbsegda uclixs* na spnbmisti . i vb crokpv(e) ideze vbsi jjudei
spnemlots s¢ . i tai ne g[lago]laxs™™ nicesoze [Z, A]
I always taught in synagogues and in the temple, where all the Jews
come together; and I spoke nothing in secret (John 18:20)

This kind of ‘simple denotation’, referring to a single past event without
reference to any inherent boundary appears to be closely connected to the
aorist, mainly of anaspectual verbs. Perfective verbs are excluded from this
context based on the fact that they always express the actualization of the
inherent boundary, which is contradictory to simple denotation in OCS.
Given the incompatibility between the aorist and imperfective verbs, it will
come as no surprise that I have also not found many imperfective verbs in
this function. However, there are some examples of an imperfective verb in
retrospective mode, which I will discuss when I treat the imperfective aorist
(in section 8.2.2.2).

I have not found convincing examples of the imperfect tense in retrospective
mode, which suggests that the imperfect in OCS is a typical narrative form.
Hence, in my opinion, even in contexts where retrospective mode is an
option, the use of the imperfect changes the utterance into a narrative
utterance. Thus, in the following text, where a Greek imperfect é(ytotuév ‘we
were looking’ is translated, the Zographensis and Savvina Kniga present the
event in a retrospective manner, while Marianus and Assemanianus present
the event as part of a narrative:

% Interestingly there is again an example of the verb plesati ‘dance’ in this example. The verb is
attested 9 times in the OCS corpus, 6 times in the aorist and 3 times in the PastAPI. If one would
take the grammatical profile of this verb to be the final indicator for its aspect, the judgement
would be that plesati is perfective. However, morphologically it falls into the group of anaspectual
verbs and lexically it fits there perfectly since it clearly is an aterminative verb. This is a good
example of how an individual verb profile can be misleading.
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(151) ¢edo ¢pto tvori nama tako . se o[tp]cp tvoi . i azp skrpbesta .
iskaxové™ tebe [Z, Sk]
son, why have You treated us this way? Behold, Your father and I have
been anxiously looking for You (Luke 2:48)
¢edo ¢to sptvori nama tako . se otecp tvoi i azp . skrpbesta .
iskaaxové™ tebe [M, A]
son, why have You treated us this way? Behold, Your father and I were
anxiously looking for You (Luke 2:48, my translation)

In the following verse, only the Savvina Kniga has a retrospective perspective:

(152) irece kb nima. ¢to jako iskasta® mene [Sk]
and He said to them “Why have you been looking for Me” (Luke 2:49,
my translation)
i re¢e kb nima . ¢to &ko iskaseta™ mene [Z, M, A]
and He said to them “Why is it that you were looking for Me” (Luke
2:49)

I should note that iskaxové in example (151) could be seen as a contracted
imperfect and that iskasta in example (152) could be seen as an imperfect with
a ‘secondary’ ending, which is equal to the aorist ending (cf. Diels 1963: 235).
It would be interesting to see whether contraction and these secondary
endings occur more often in contexts that allow for a retrospective reading.

Although aorists generally refer to single events, example (150) shows that the
aorist is also compatible with the expression of repetition, or habituality, as
indicated by adverbs like vosegda ‘always’. The aorist is used to indicate that
the teaching and speaking are over, the words are spoken when Jesus is
already brought before the high priest, at the end of his life. Interestingly,
Savvina Kniga has the (contracted) imperfect ucaxs, which does not have the
finalized nuance, but rather emphasizes habituality of the event.

I also found an example of an aorist of a prefixed verb without a derived
partner vevrésti ‘throw into’ that is used to refer to an event that has occurred
more than once:

(153) 1imnozicejo i vb ognb vevraZe* .ivb vode . daibi pogubils [Z, M, A,
Sk]
it has often thrown him both into the fire and into the water to destroy
him (Mark 9:22)

The aorist itself does not express the repetitive occurrence of the event, which
is done in this instance by the adverb mmnoZicejp ‘many times’, which
‘multiplies’ the event. So the aorist is not incompatible with repetition,
although it does not express this itself, unlike the imperfect in the narrative
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mode. The use of the aorist vavraZe in (153) is similar to the use of the
perfective present in (122) in that it refers to a bounded number of events.

8.2.1.2 Narrative mode

In narratives the aorist is used to refer to the events that push the story
forward, it chains the events together into a narrative sequence. I have shown
examples of this in Chapter 6, both with perfective and anaspectual verbs.
Imperfects, on the other hand, usually provide background information,
paint the backdrop against which the story evolves, like the following
imperfective imperfect vezmostaase ‘stirred up’ and the imperfect of the
prefixed suffixed VOM swzxoZdaase ‘went down’:

(154) ang[e]l[p] bo glospodin]p na vesé léta svxoZdaase™* vb kopélb . i
vozmostaase™  vodo [M]
for an angel of the Lord went down at certain seasons into the pool
and stirred up the water (John 5:4)

These imperfective imperfects are used to describe the situation, in this case
the habitual events that form the background for the following situations.
The backdrop is further painted by a sentence about a man who had been
(bé™") present for thirty-eight years, after which the story line starts
unfolding with past participles and aorists:

PastAPI PastAPI

(155) sego vidéve isfusp] . i razuméve ¢ko mwpnoga léta juze
iméase . g[lago]la*" emu xostesi li Zive byti [Z, M, A]
when Jesus saw him, and knew that he had already been a long time in
that condition, He said to him, “Do you wish to get well” (John s:6,
my translation)

There are, however, also examples of the imperfect in a sequence of events
(cf. example (54), Chapter 6). This can be compared to what Dickey (2000:
203) in his comparison of the modern Slavic languages, calls the ‘contextually
conditioned imperfective past (CCIP)’. The occurrence of the CCIP in OCS is
of importance, because modern Slavic languages show aspectual variation in
this context (cf. Ivancev 1961, Galton 1976, Stunova 1993, Dickey 2000). In
OCS the use of non-perfective verbs in sequences of events occurs both with
anaspectual imperfects and imperfective imperfects.** Compare the following
examples with anaspectual verbs:

3 Many of the examples of imperfective verbs in sequences of events that Dickey (2000: 203-233)
and also Stunovd (1993: 105-167) give, would be anaspectual in this study, which is why I speak of
non-perfective verbs in sequences of events.
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(156) i venido$e*™ vb kaperpnaumds . i abbe vb sgboty . na spnbmisti
ucaase™" [Z, M|
they went into Capernaum; and immediately on the Sabbath He began
to teach in the synagogue (Mark 1:21, my translation)

(157) togda ostavi*" ego diévols . i se a[n]g[e]li pristopise™” i sluZaaxo™"
emu [Z, A, Sk]
then the devil left Him; and behold, angels came and began to minister
to Him (Matthew 4:11)

(158) i pristopp’™**! otbvali®* kamens . otp dveri groba . i sédéase™" na
nems [Z, M, A, Sk]
and came and rolled away the stone and sat upon it (Matthew 28:2)

The English translations of (156) and (157) show that a possible interpretation
of the imperfect in this context is ingressive. The events in the imperfect are
presented as occurring in a chain. However, the imperfect leaves any
boundaries of the event out of the focus, which necessarily results in a contact
between the “events themselves” (cf. the Y in Figure 2.6 in section 2.2.3),
which makes it a different kind of ingressivity than expressed by verbs like
ubojati se ‘become afraid’ of vezalvkati ‘become hungry’.

Interestingly, the verb sédéti ‘sit” never means ‘sit down’, which makes it hard
to interpret sédéase in (158) as ingressive; the event appears to be presented in
media res.”* Given the fact that the boundaries of the events are left out of the
focus in (156) and (157) as well, there is no fundamental difference with (158);
in all cases the “event itself” is in focus. Not only anaspectual verbs occur in
this kind of context; there are examples with imperfective verbs as well:

(159) nacetp™ moditi nozé ego slbzami . i vlasy glavy svoeje otiraase™" .
oblobyzaa$e™ nozé ego . i mazaade™ m’iiroms [Z, A, Sk]
she began to wet His feet with her tears, and kept wiping them with the
hair of her head, and kissing His feet and anointing them with the
perfume (Luke 7:38)

¥ On a more speculative note: the imperfect of both sédéti ‘sit” and sésti ‘sit down’ is sédéaxw, even
though the imperfects are always ascribed to sédéti (Aitzetmiiller 1974) and sésti is considered to
not occur in the imperfect. Of the 6 occurrences of Greek imperfect ékdfrro in the meaning of
‘sit down’ in the Gospels, OCS only translates with an aorist séde once (Matthew 15:29, Z, M); the
five other occurrences are all translated with the imperfect sédéase (e.g. Matthew 13:1 and John
6:3), just as in the 4 instances in Greek in which the form means ‘was sitting’ (e.g. Matthew 26:69,
Mark 10:46). It is possible that the imperfect in OCS had both meanings and formed a kind of
‘bridge’ between sésti and sédéti. See also Chapter 10 on the bridging function of the imperfect.
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(160) idoste® Ze i obrétoste®” Zrébbeh privezan®d . pri dvbrexsd . vbné na
paspotii . i otréSaasete™" i [Z, M]
they went away and found a colt tied at the door, outside in the street;
and they untied it (Mark 11:4)

In example (159) the three imperfects (otiraase, oblobyzaase, mazaase),*
translating three Greek imperfects, most probably refer to three parallel or
overlapping events, following the onset of the story, nadets. So while the step
from ‘began to wet’ to these tree parallel events is a step forward in the story,
the three events themselves do not push the storyline any further. The most
obvious interpretation is a series of intertwined wiping, kissing and
anointing, hence the imperfective aspect results in an iterative reading. In
example (160) the use of the imperfective imperfect otrésaasete appears to
emphasize the fact that the untying had some duration, it focuses on the
process phase of the untying.” This fits in with the part of the story that
follows, which is now presented as overlapping with the untying:

(161) i eteri otp stojeStiixp tu . g[lago]laaxq ima . C¢pto déeta’™
otrésajosta’™** zréboce [Z, M]
some of the bystanders were saying to them, “What are you doing,
untying the colt?” (Mark 11:5)

The examples of anaspectual and imperfective imperfects in sequences of
events show that the imperfect and imperfective verbs are not only used for
background information in a narrative, but can be used to move a narrative
forward as well. In most cases, however, the sequence of events does not
proceed beyond the imperfective imperfect in the same utterance, which
shows that it differs from the aorist that is often used as an onset for a
following event in the same utterance. The few examples that I found of an
imperfect with a subsequent aorist in the same utterance are with anaspectual
verbs, but I see no reason why imperfective verbs could not have been used in
a similar vein. The following examples demonstrate the use of an imperfect
with a subsequent aorist:

3 The verb oblobyzati, oblobyZo ‘kiss’ does not belong to the core imperfectives. It is not derived
by means of -ati, -aje- and an extra derived verb oblobyzati, oblobyzajo ‘kiss’ exists. The
underived verb is oblobvzati, oblobvzp ‘kiss’

¥ The use of the imperfect may also have been influenced by the Greek original, which has a
historical present, Adovorv. In the discussion below, I will argue that a possible translation of a
Greek historical present in OCS is an imperfective aorist. However, this rare form may have been
lost in the process of copying resulting in either perfective aorists or imperfective imperfects. The
original form could have been the imperfective aorist otréSaste, which may have felt like a strange
form to a copier who did not have the Greek original at his disposal. On the other hand, the
translators could also simply have chosen the imperfect to create the feeling of overlap with
subsequent events, which is also compatible with the Greek historical present.
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(162) is[usp] ze mlocaase™" . otbvéstavp ar’xierei refe emu . zaklinajo te
blogo]mbp Zivimbp . da rece$i nam® . aste ty esi x[ristos]® s[y]n® b[o]zii
[Z, M, A, Sk]
but Jesus kept silent. And the high priest said to Him, “I adjure You by
the living God, that You tell us whether You are the Christ, the Son of
God.” (Matthew 26:63)

(163) onb ze rece pridi . i izlézp is korablb petrs . xoZdaase™" na vodaxs .
i pride*™ ky is[uso]vi [Z, M, A, Sk]
and He said, “Come!” And Peter got out of the boat, and walked on
the water and came toward Jesus (Matthew 14:29)*®

In (162), the use of the imperfect is easily explained as it indicates the
continuation of a state. In the preceding verse, Matthew 26:62, the last event
is coded by the aorist rede ‘he said’, as the high priest asks him why he does
not answer. From that question is can be inferred that Jesus was silent before,
did not respond to the accusations and also does not respond to the question
posed by the high priest. However, his keeping silent is more than simple
background information: the fact that Jesus keeps silent even after the high
priest asks him why he does not answer, as well as the fact that his keeping
silent elicits a reaction from the high priest push the story forward. In (163)
the imperfect xoZdaase of the indeterminate VOM xoditi ‘walk’ (cf. example
(281), Chapter 9) is completely surrounded by aorists and is itself a
translation of a Greek aorist, mepiemdrnoey. It seems unlikely that Peter was
just walking around a bit on the water, the walking on water event is simply
one in a sequence of events. The use of the imperfect, however, draws
attention to the event, maybe slows down the pace of the story to zoom in on
the most unbelievable part of it. This also fits with Dickey’s (2010) theory that
the partners of the VOMs where manner-of-motion verbs in OCS; the
imperfect xoZdaase emphasizes the fact that Peter’s coming towards Jesus is
done walking (cf. section 9.4).

Various interpretations of the use of non-perfective (hence, imperfective and
anaspectual) verbs in sequences are possible, such as ingressive, durative,
iterative, in media res, or maybe simply drawing attention to the event by
slowing down the pace of the story like in (163). The CCIP (see the
explanation above example (156)) also occurs in Modern Slavic, e.g. in Czech.
Stunovd (1993: 112) describes for Czech that events in a sequence that are
expressed by imperfective verbs are felt to be partly overlapping. They create

#¥1 have not marked the Past Active Participle I izlézo, but it seems to function no differently
from the aorists and could be seen as the second event in the sequence, just as in the English
translation ‘got out’.
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an effect of smooth transition or continuity of the action (cf. Galton 1976: 70,
Dickey 2000: 217). Berger (2013) also discusses the use of imperfective verbs
in sequences of events in Czech and regards it as a way of ‘slowing down the
action’ (ibidem: 40). All these effects can be explained by the fact that the
imperfect does not focus on the change from one situation to another, which
is the normal way of narrating events, also in OCS. Without native
informants it is impossible to gain absolute certainty regarding the specific
pragmatic effects in OCS, but the examples above demonstrate beyond doubt
that the CCIP occurs frequently in OCS.

Finally, the imperfective imperfect also occurs in a conative function. I have
found three examples in the Gospel texts of an imperfective imperfect being
used to refer to a failed attempt:*

(164) ioand Ze vozbranéase™"' emu gllagolle . azb trébujo otp tebe krpstiti
s¢ . ali ty kp mné gredesi . otpvéstave ze is[usp] re¢e kb nemu . ostani
nyné [A, Z, Sk]*°
but John tried to prevent Him, saying, “I have need to be baptized by
You, and do You come to me?” But Jesus answering said to him,
“Permit it at this time” (Matthew 3:14-15)

(165) idaéxg™" emu . piti ocbtbno vino . ons Ze ne prijetv™™ [Z, M, A, Sk]
they tried to give Him wine mixed with myrrh; but He did not take it
(Mark 15:23)

(166) iDbystp vb osmy dbnb . prido*” obrézatp™ otrolete . i naricaaxo™ e .
imenems . o[tp]ca svoego zaxarij¢ . i otpvéstavpsi m[a]ti ego rece . ni .
nb da nareCets™™ se¢ ime ioans [Z, M, A]
and it happened that on the eighth day they came to circumcise the
child, and they were going to call him Zacharias, after his father. But
his mother answered and said, “No indeed; but he shall be called
John.” (Luke 1:59-60)

In all three examples the success of the attempt depends on a third party that
has the power to prevent the successful change of state. And while the first
two examples allow for a durative interpretation, in example (166) it is really
only the non-attainment of the inherent boundary that results in the use of an
imperfect. Hence, it is the imperfective aspect that is used to defocus the

3 All three examples are translations of a Greek imperfect.

% The imperfect imperfect vezbranéase cannot be morphologically distinguished from the
imperfect that would be formed from the perfective vozbraniti ‘prevent’ (cf. Amse-de Jong 1974:
104 ff,, Aitzetmiiller 1977: V), however there is no reason to assume that in this case it concerns a
perfective imperfect (see also section 8.2.3).
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inherent boundary, which is responsible for this effect. This can also explain
why there are no examples of anaspectual imperfects in a conative function.

8.2.2 Imperfective aorist

According to Dostal (1954: 600), 40% of all attested cases of aorist use in OCS
are imperfective. Dostal arrives at this rather high percentage because his
count includes the instances of the aorist of verbs that I have categorized as
anaspectual aorists, like plesa in example (144). In my categorization, in the
imperfective groups there are only 37 attestations of the aorist out of a total of
3,654. Moreover, these attestations are found in only 18 verbs of the total of
504 and only a few of them are clear-cut cases of the imperfective aorist, as I
will demonstrate below. Hence, the imperfective aorist is an extremely rare
form, which makes it hard to draw a final conclusion on its functions in OCS.
Below, I will attempt to demonstrate in which way the defocusing of the
inherent boundary (imperfective aspect) is compatible with presenting the
event as temporally bounded (aorist).

8.2.2.1 Some complicated verbs

The imperfective verb with the most aorist attestations in OCS is veprasati
‘ask’. Amse-de Jong (1974: 150-154) does not regard this as an imperfective
verb, because of its attestations in the aorist and treats it like a simplex, even
though in her formal categorization it should be classified as an imperfect in
opposition to veprositi. In her opinion, however, the prefix v&- no longer
makes the verb terminative; it rather belongs to the root, like in vepross
‘question’. The examples Amse-de Jong gives include the following example:

(167) tace voprasa® asklipiada polemond . i li ty krbstijan®s jesi . asklipijad®
rece ei [S]
then Polemon asked Asclepiades, “Are you a Christian too?”
Asclepiades said, “Yes.” (132, 26-28)

In my opinion, the use of veprasati in such utterances is similar to that of
glagolati in the sense of ‘say’; the message, in case of veprasati the question,
makes the predicate terminative, introducing an inherent boundary. The
aorist of veprasati in example (167) is a translation of the Greek aorist
énnpwrnoe ‘he asked’. Aorist forms of the same Greek verb are also translated
by aorists of anaspectual prositi ‘implore, ask’ and perfective veprositi ‘ask’:

(168) 1 pristopbde faris¢i . i sadukei . iskusajoste i . prosise*™ znameni¢ sb
n[e]b[e]se pokazati im® [Z, M]
the Pharisees and Sadducees came up, and testing Jesus, they asked
Him to show them a sign from heaven (Matthew 16:1)
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(169) iveprosi* otb nixs . zakonouditels iskusajei i gl[agol]e [M]
one of them, a lawyer, asked Him a question, testing Him (Matthew
22:35)

It is difficult to determine what motivates the choice of either verb, especially
since in (167) and (169) the situations are similar: a single question is being
asked. There is also an example of variation between codices concerning one
and the same passage, where one codex has an aorist of veprositi while the
other has an imperfect of veprasati:

(170) i pridjo** sakukei kb nemu ize gl[a]g[o]ljots ne byti vbskréseniju i
voprosise®™ i gl[agol]joste [M]
i pridos$¢* sakukei kb nemu . ize gl[agol]jots ne byti vbskrésensju i
voprasaaxg™! i gl[agol]joste [Z]
some Sadducees (who say that there is no resurrection) came to Jesus,
and began questioning Him, saying (Mark 12:18)

The interesting thing about this example is that the Byzantine Greek text, on
which the OCS translation is based, has an aorist énnp@rnoav, while the
critical text has an imperfect émnpdTwv, which is what the English translation
is based on. With the aorist it seems that a normal sequence of events is
expressed ‘they came and questioned him’, while the use of the imperfect is a
case of CCIP in which the questioning is presented as an iterative event
(questioning implies asking a number of questions), or maybe ingressive
‘they came and started questioning him’, like in the English Bible translation
(cf. section 8.2.1.2). With regard to terminativity: in the sense of ‘question’
vepradati could be seen as aterminative, just like glagolati in the sense of
‘speak’. There is a similar example in Luke 3:14, where the Greek original has
an imperfect:

(171) veprasaaxo™'Ze i . i voini gllago]ljoste . i my ¢bto sptvoritme . i rece
ks nim® . nikogoze obidite . ni oklevetaite . i dovolsni bodéte obroky
vasimi [Z, M, A]
voprasase™™ ze i voini gllago]ljoste . i my ¢pto sptvoritm® i rede kb
nim® . nikogoze ne obidite ni oklevetaite . i dostoini bodéte obrestanii
vasimi [Sk]
some soldiers were questioning him, saying, “And what about us, what
shall we do?” And he said to them, “Do not take money from anyone
by force, or accuse anyone falsely, and be content with your wages”
(Luke 3:14)

The choice of veprasati could maybe be explained by the fact that
questioning is a longer lasting event in which a number of questions are
asked. The verb veprositi summarizes this into a single complete event, in
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which the difference between questioning and asking is lost. The aorist is
used here because the event occurs in a sequence of events, much like an
anaspectual aorist, while the imperfect is, again, a case of CCIP. However, in
other cases the imperfect of voprasati simply means ‘ask’:

(172) veprasaase™ e Casa otb nixs . vb kotory sulée bysts . rése Ze emu .
¢éko velera vb ¢asp sedmy ostavi ogns [Z, A]*
voprasa® ze godiny otb nixd . vb kojo sulée emu bys[tp] rés¢ ze emu
. €ko vblera v goding sedmqjo ostavi i ogns [M]
so he inquired of them the hour when he began to get better. They said
therefore to him, “Yesterday at the seventh hour the fever left him”
(John 4:52)

(173) i veprasaase™' i . kako ti estb ime . i gl[agol]a emu . legeons mbné
ime estp [Z, M]
and He asked him, “What is your name?” And he said to Him, “My
name is Legion” (Mark s5:9, my translation)

It is difficult to see why the OCS translators would choose an imperfective
verb in this context. The use of the imperfect can in some cases be influenced
by the Greek original, which has an imperfect in (171) and (173), but an aorist
in (172).

It is probably also no coincidence that veprasati is attested in the PastAPI
three times as well, given the fact that aorist and past participles are so closely
connected:

(174) veprasavese®™? e kto jestp oty nixp iskomyi imi savine [...]

jedinogo spvezase [S]
and after asking who of them was their wanted Savin [...] they tied
one up (146, 2-4)

The PastAPI is a translation of the Greek aorist participle émepwrijoavres. It is
possible to interpret this as a longer lasting event ‘after they interrogated
them as to who of them was ..., but there is no other clue for this
interpretation except for the use of the imperfective verb veprasati.

All this variation, even between and within the Greek versions, makes it hard
to deduce strict rules as to when a certain form (or verb, think of prositi and
voprositi) was used. It is clear that the imperfective vaprasati often refers to a
single question and is not used in a conative function; in examples (171)
through (173) the questions are clearly answered, nor is there any iterativity
involved. The solution Amse-de Jong (1974: 150-154) proposes of seeing

* Assemanianus has ostavi i ogno, like Marianus.
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vepradati as an anaspectual verb, feels somewhat ad hoc, but solves the
problem of the unusual choice of an imperfective verb in contexts where
there seems no reason to defocus an inherent boundary. Examples (170) and
(171), where the verb is used more in an ‘interrogating’ sense can be seen as
aterminative examples of veprasati (cf. glagolati in the meaning ‘speak’). This
could also mean that the terminativity in the other examples is not due to the
inherent terminativity of veprasati, but to other factors, like the context or
the verb form it occurs in. However, I do not concur with her line of
reasoning that the fact that this verb is attested in aorist forms makes it
automatically anaspectual, since there are other examples of imperfective
aorists, as I will demonstrate below.

Except for aorists of veprasati, Amse-de Jong (1974: 163-171) mentions some
other complicated cases. The verb izvéstati ‘proclaim’, for example, the
derived partner of izvéstiti ‘proclaim’, with 5 aorist attestations, is a difficult
case in which various derivational patterns coincide (cf. Amse-de Jong 1974:
167-169).*

In some cases the imperfective aorist is the result of an obvious copying
mistake:

(175) arxieréi zaklinase* blo]gomp Zivymsb . ty li esi g[lago]le s[yn]®
b[o]zei [Es]
the high priests swore by the living God, “Are you the one saying that
he is God’s son?” (48b, 11-13)

The form aorist zaklinase is a third person plural aorist, which makes no
sense in this context, while a third person imperfect zaklinase would. The fact
that the nasal ¢ occurs more often instead of e in Euchologium Sinaiticum
supports the hypothesis that this is in fact a mistake (Nahtigal 1941: 115 fn.).
This could be the result of the process of denasalization of vowels, which is a
phenomenon the results of which occur rather frequently in younger OCS
codices of the Late Old Church Slavonic recension (Schaeken & Birnbaum
1999: 24, cf. Chapter 1).

+ There is a simplex véstati ‘speak’ with a derived partner véstavati ‘speak’. Prefixed verbs of this
unprefixed pair form prefixed pairs (e.g. otevéstati - otevéstavati ‘answer’). Of these verbs no
prefixed forms with -vétiti exist (e.g. *otwvétiti). There are also two pairs izvéstiti - izvéstati
‘confirm’ and vezvéstiti - vezvéstati ‘proclaim’. Of these forms there is no derived form
on -véstavati (e.g. *izvéstavati). There is, however, a verb izvéstovati ‘inform, confirm’, which
appears to be denominal of izvésts ‘real, true’. The complication is that some of the verbs ending
in -vétati are the perfective partner to a derived verb on -véstavati, while others are the
imperfective partner, derived from verbs on -véstiti. As such, izvéstovati could even be regarded
as a form for disambiguation (cf. the prefixed forms of -védovati discussed in Chapter 9, section

9.5).
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I will not discuss all the individual cases in which the status of the imperfect
aorist is uncertain; the reader is referred to Amse-de Jong for a detailed
discussion of most of the forms in the Suprasliensis. Below, I will concentrate
on some of the more convincing examples of imperfective aorists, to
demonstrate that the forms do in fact occur in specific functions.

8.2.2.2 Examples of the imperfective aorist

After eliminating the most dubious and complicated forms, I believe there are
still some forms left that need to be accounted for and that can be seen as
imperfective aorist.

It is interesting that Amse-de Jong does not discuss the 3 examples of the
aorist of the imperfective verb oZidati ‘expect’ in the Suprasliensis, not even as
problematic cases.* It could be that she considers the verb oZidati to be
similar to veprasati in that it is aterminative. In that case the aorist
attestations would simply be anaspectual aorists, expressing a temporally
bounded activity. It is also possible that she considers the attested forms to be
contracted imperfects (oZidaaxs > oZidaxw), which in this case is identical to
the aorist. In such cases, where it is not possible to distinguish between aorist
and imperfect on morphological grounds, it is especially interesting to take a
look at the Greek original. In all three instances, the Greek parallel text of the
1982 edition of the Suprasliensis has an aorist form (12, 11 fveaydunv 433, 28
and 436, 1 uerva). This gives me the impression that the aorist forms should
be taken at face value, like in the following example (translating Greek &uerva
T expected’):

(176) oZidax®*" sptvoriti vino . sptvori Ze trbnije [S]
I expected it to produce grapes, but it produced thorns (433, 28-29)

If this form should really be understood as an imperfective aorist and not as
anaspectual aorists, my interpretation would be that the imperfective verb is
used here to express that the expected grapes were not produced, hence in a
conative function. The aorist expresses that the event has finished and
connects the event to the subsequent producing of the thorns, which is the
reason why the event is cut off before the reaching of an inherent boundary.
Had the OCS translator used an imperfect of oZidati, the contrast between the
expected result and the practical result would have been different; the

+ No perfective partner *oZvdati is attested in OCS. However, the verbs dozedati ‘wait for, persist’
and poZvdati ‘wait for, expect’, both prefixed formations of Zvdati ‘wait, expect’ are attested.
Moreover, in Old Russian the perfective partner oZvdati is attested (Sreznevskij 1893-1906). The
Modern Russian equivalents given by Sreznevskij are: obozdat’ ‘wait for a while’ and doZdat’sja
‘wait until the end’. This gives the impression that also in OCS ozidati must have been derived
from *oZvdati, a perfective prefixed formation of the simplex Zodati ‘wait’.



8. THE FUNCTIONS OF VERBAL ASPECT IN OCS 197

interpretation would have been something like T was expecting it to produce
grapes, but it produced thorns’, in which the expecting event is partly
overlapped by the producing of the thorns, but not cut off by it.

Another example of an imperfective aorist can be found in the Marianus. It
concerns the aorist of the imperfective verb posylati ‘send’ (translation of the
Greek aorist &vémepya ‘I sent’), while Zographensis has the aorist of perfective
poswlati:t

(177) n® ni irods . posylax®* bo i kb nemu . i se ni¢ptoze {sp} dostoino
sbmrbti sptvoreno estb o nemsp [M]%
nd ni irods . poselaxs™ bo i kb nemu . i se ni¢stoze dostoino spmroti
tvoreno estb 0 nems [Z]
but neither Herod: I sent him to him (and he has returned him); and
behold, nothing deserving death has been done by him (Luke 23:15, my
translation)

This utterance by Pilate concerns Jesus whom he had sent to Herod, but who
was now returned to him by Herod. So Jesus is standing in front of him while
Pilate tells the people that he sent Jesus to Herod. The imperfective aorist in
the Marianus may have been used here to express the roundtrip that Jesus
made; the initial attainment of the boundary of Jesus being sent away has
been undone by the subsequent event of Herod sending him back. This is the
reason why the Russian Synodal Orthodox Version also uses an imperfective
verb ibo ja posylal® Ego k nemu. By contrast, the Czech translation has jsem
poslal’. The aorist in OCS means that the event is temporally bounded which,
in this case, results in the interpretation of the event as total, notwithstanding
the fact that the change of situation has been undone. Zographensis has an
aorist of perfective posslati, posvlaxws, which does not express the roundtrip
meaning. Hence, the use of the imperfective aorist is not obligatory in OCS in
this situation, unlike in Modern Russian.

The imperfective aorist in (177) is an example of a true imperfective verb used
in retrospective mode in OCS and as such is connected to the ‘simple
denotation’ function of anaspectual aorists as discussed in section 8.2.1.1. It
refers to the occurrence or relevance of a past event, without focus on the
result.

* One could object to this form being analysed as an aorist and argue that it is a contracted
imperfect instead. However, the codex Zographensis has an aorist as well (posslaxs), just as the
Greek original. I think it is more reasonable to assume that a scribe felt the need to smoothen out
the rare imperfective aorist in the Zographensis, than to assume that a scribe decided to change a
perfective aorist into a contracted imperfective imperfect.

% The Byzantine version of the Gospels, and hence the OCS translation, differs somewhat from
the modern critical text, which has a 3rd person aorist here.
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Incidentally, I found an example of a PastPP of posylati as well, again with
variation between the codices:

(178) ier[u]s[a]l[ilm® izbivesi¢ pr[o]r[o]ksi . i kameniemd pobivajosti .
posylanyje™'™* kb tebé [A]
i[e]r[usalilme . izbivy prlorolky . i kameniemp pobivaj¢
posslanyje’™* kb tebé [M]
Jerusalem, who kills the prophets and stones those who are sent to her
(Matthew 23:37)*

The use of the imperfective participle posylanyje possible refers to the
repeated sending of people to Jerusalem.¥

An example similar to (177), in which the change of state is undone at the
moment of utterance, can be found with an aorist of obnaZati ‘become naked’
(translation of Geek aorist éyvuvwdno ‘you became naked’):

(179) nb aste ty adame pomenesi . jegda vb porod¢ obnazZa* kojego dgba
listvije vbzpm® i sBSive sebé si odezdg svtvori [S]
but do you remember Adam when he became naked in paradise, from
which tree he took leaves and made clothes for himself by sewing
them together (347, 27-30)

The additional benefit of the form obnaZa in example (179) is that it cannot
be interpreted as a contracted imperfect, since the ending is an exclusive
aorist ending. The examples (176) - (179) share the fact that for some reason
the inherent boundary is defocused, while the event is presented as
temporally bounded, or total. However, there are also examples of the
imperfective aorist that are harder to interpret, like in the following example
from the Clozianus (translating the Greek aorist 0méorwoay ‘they spread out’:

(180) denesb Ze vb staryxp mésto nespbmyslbnyxb otroci sbrétQ
s[p]pla]sitelé ¢ko symeon®s i vétve postilase*™ [C]
but today instead of short-sighted elderly people, children met the
saviour like Symeon, and spread out branches (1a 34-36)

In the Suprasliensis this text is also attested and there a perfective aorist is
used (postvlase of postvlati ‘spread out’). A possible interpretation of the

4 The translation of the version in codex Marianus is ‘Jerusalem, you who kills ..." because of the
vocative ierusalime.

¥ The PastPP occurs only very sporadically in imperfective verbs and is difficult to interpret. For
example, the PastPP of the verb opravedati ‘justify’, occurs in Luke 18:14 in all four Gospel
codices and once in Psalm 18:10. Dostdl (1954: 555) remarks because of these attestations that the
aspect of opravedati is not clear. In any case, it is difficult to interpret the imperfectivity of these
forms, even more so since there are no examples of PastPP of the perfective partner opravediti

‘justify’
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version in the Clozianus is that the spreading of the branches on the road is
presented as an iterative event, hence with emphasis on the unboundedness
on the macro-level ‘they have been spreading out branches’ (cf. also example
(55) Chapter 6), an event which stops (hence, is temporally bounded) at the
moment Jesus passes by.

In the Zographensis one example of an imperfective aorist is attested. It
concerns a form of the imperfective verb prizyvati ‘summon’, derived from
prizevati ‘summon’ (Marianus has prisva, an aorist of perfective prizevati
‘summon’):

(181) ivbzide na gorq i prizyva®* jeze sambd vbsxoté . i idose kb nemu [Z]
i vbzide na gorq i prizeva®" jeze samd xot¢ . i ido kb nemu [M]
and He went up on the mountain and summoned those whom He
Himself wanted, and they came to Him (Mark 3:13)

The OCS aorist is the translation of a Greek historical present mpookadeitau
‘he summons’. I have already mentioned that the historical present is almost
completely absent from OCS. Greek historical present forms are normally
translated with aorists, which is also the case here. However, the particular
choice of aspect, the prefixed imperfective verb prizyvati may be influenced
by the fact that the translator translated a Greek present tense.*

As mentioned above, in cases of historical present, Klein (1994: 139)
distinguishes between the real time of the situation and the imagined time of
the situation, either of which may be chosen, or between which a speaker may
switch to create particular connotations. Applying this theory to OCS the
imperfective verb could have the effect that the imagined time of the situation
is in focus, while a perfective verb is a choice for a focus on the real time of
the situation. Maybe the form prizyva in (181) is a way of doing both: by using
an imperfective verb, the imagined time of the situation is focused,
presenting the event as taking place at the moment of utterance, while the use
of the aorist indicates that this concerns a total event, which can be seen as a
choice for the real time of the situation. Alternatively, the use of the historical
present is explained as highlighting decisive events. This explanation has the
benefit of not having to zoom in on an event that does not have a process
phase to zoom in on, like posylajots in (134) as well as prizsiva in (181). In
that case, the use of the imperfective aorist could also be explained as drawing
attention to the decisive event in a series of events.

# Note that this does not explain why the first Greek present tense form, &vaBaiver, does not get
this special treatment and is simply translated with an aorist of a prefixed determinate VOM,
vezide, which can be regarded as a perfective aorist (cf. section 9.3).
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The fact that the Marianus has the perfective aorist prizeva, of the verb
prizevati ‘summon’, can be explained by the scribe not necessarily having the
Greek original at his disposal and thus regarding the highly specialized
imperfective aorist as a scribal error, or a translation error. Or he could have
simply misread or misheard prizyva for prizeva, of which the latter was quite
a common form in OCS, contrary to the former. Interestingly, in the codex
Zographensis, the letter i, which makes up the second part of the letter y (i),
is added supralinearly, which shows that this was a mistake that was all too
easily made. Moreover, the fact that the mistake was rectified gives the strong
impression that the imperfective aorist was indeed an acceptable form and
was interpretable, otherwise such a correction would not have made sense.

There are no other examples exactly like (181). There is on example of an
aorist of vezyvati ‘call’, which can be found in Euchologium Sinaiticum and
Psalterium Sinaiticum, in the second verse of Psalm 4. However, this time it is
a translation of a Greek present infinitive, émxaleioOai ‘I call’, which is
followed by an aorist eiofjxovoév ‘you answered’:

(182) vnegda vezyvaxs* usly$a® me b[o]Ze pravedy moeje [Es]*
vbnegda vezyvaxe™* usly$a** mje b[o]ze pravbedpi moeje [Ps]
when I called you, you answered me, o God of my righteousness
[Psalm 4:2]

In this case the imperfective aspect could have been used to express
iterativity, while the aorist links together the calling with the answering. The
translation of the version in Euchologium Sinaiticum could be read as
‘whenever I called you’, while the version in Psalterium Sinaiticum misses
that iterative nuance and simply connects a single calling event with a single
answering event.

Admittedly, the hypothesis of using an imperfective aorist as a translation
strategy for the Greek historical present is rather speculative. There is a clue,
however, which also points in the direction of a specialized translation of
Greek historical present forms and it concerns verba dicendi. Greek historical
present forms are normally translated by OCS aorist and this is no different
with aorist of Aéyw ‘say’. However, while the aorist of Aéyw is translated by an
aorist of resti ‘say’, the historical present of Aéyw is normally translated by an
aorist of glagolati>® The following examples show this function of the aorist
of glagolati:

# Unlike the form in the Zographensis, which can only be an aorist because of the unique ending,
this could be seen as a form of a contracted imperfect.

°T counted all translations of 3sg indicative present Aéper in the four Gospel codices in the
Gospels of Matthew and Mark. There were 264 translations with the aorist g/lago]la and 32 with
the aorist rece.
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(183) gllago]la** im®b . otidéte . ne umrétp* bo dévica nb sBpitBF™ . i
rogaxq™ se emu [Z, M, A, Sk]
He said, “Leave; for the girl has not died, but is asleep.” And they
began laughing at Him (Matthew 9:24)

(184) i gllago]lase** emu €ko niktoZe nas® ne najets . gllago]la* imb idéte
i vy vb vinograd® moi . i eZe bodets praveda priimete [M, A, Sk]
they said to him, “Because no one hired us.” He said to them, “You go
into the vineyard too, and you will receive what is right” (Matthew
20:7, my translation)

This use of the aorist of glagolati contrasts with the aorist of resti, which is
normally used to translate the Greek aorist:

(185) is[usp] rece™ ima . ¢pto xoSteta sptvorg vama [Z, M, A, Sk]
and He said to them, “What do you want Me to do for you” (Mark
10:36)

Although the association between the historical present of Aéyw and the aorist
of glagolati is not absolute, the frequency with which it occurs points at a
translating strategy. In the discussion of the present tense of resti and
glagolati 1 already pointed out that there is a division of labour between these
verbs that is reminiscent of the division in aspectual pairs. Maybe this
translating strategy is another hint in that direction. It is possible that forms
like prizyva where straightened out in the copying process, because of their
strong resemblance to the perfective aorist, while the aorist of glagola
survived because it did not look or sound at all like the aorist of resti.
Moreover, the rather frequent occurrence of glagolati and veprasati in the
aorist in sequences of events could indicate that verba dicendi have some
specialized aspectual functions. A study of aspect use in all verba dicendi in
OCS may clarify the specific behaviour of glagolati and veprasati and the
verbs they have a relationship with.

At first, I tried to ignore or explain away all possible examples of the
imperfective aorists and follow Amse-de Jong and her rather attractive model
in which imperfective aorists are simply logically impossible. However, the
examples I presented above indicate that imperfective aorists do actually
occur in OCS, albeit rather sporadically, and that their use results in
interpretable utterances. The low frequency of examples of imperfective
aorists in the OCS corpus may partly be due to losses in the copying process
and makes it difficult to draw firm conclusions, but the common
denominator in all the examples is the defocusing of the inherent boundary,
while at the same time the event is presented as temporally bounded, or total.
It makes sense that forms with such complicated semantics are rare.
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However, the existence of these forms is yet another reason to not consider
the aorist a diagnostic of Slavic-style perfectivity.

8.2.3 Perfective imperfect

The two meaning elements that clash in the imperfective aorist, the inherent
boundary and the temporal boundary, clash in the perfective imperfect as
well. A perfective verb expresses the attainment of an inherent boundary,
while the imperfect expresses unboundedness. Below I will show in which
contexts OCS uses this combination.

Of all attestations of perfective verbs, a total of 18,732, only 29 attestations are
clearly perfective imperfects. It is possible that there are more examples, but
these cannot be distinguished from imperfective imperfects, as perfective and
imperfective imperfects are homonymous for many verbs (Amse-de Jong
1974: 104 ff., Aitzetmiiller 1977: V). However, also in cases where the forms
can be distinguished (e.g. perfective 2/3sg impf dadéase from dati ‘give’ vs.
imperfective 2/3sg impf dajase from dajati ‘give’) there are still only very few
examples of the perfective imperfect. Despite the rareness of the form, it has
been discussed rather extensively in literature (e.g. Dostal 1954, Amse-de Jong
1974, Galton 1976, Kalsbeek 2012), unlike the imperfective aorist'I will
therefore only briefly discuss a number of examples to show the basic
function of this form, namely the expression of habitual-correlative events
(Kalsbeek 2012: 345):

(186) alte se splucaase™ ne iméti ni¢psoze dati sebé . to kotygo spvleks sb
sebe dadéase™ " nistuumu [S]
if it so happened that he had nothing to give, he would take off his
undergarment and give it to the poor man (207, 12-15)

(187) tamo ubo iZe snidéase™ po provéémp uze ne icéléase™" [S]
but there, he who would descend after the first, would not heal (496,
15-16)

In both examples there is a condition that, when fulfilled, automatically leads
to the following event. In example (186) the condition is presented by the
imperfect swlucaase ‘it happened’ that can be considered to be a form of the
imperfective swlucati, or of the perfective ssluciti. The result is of the
fulfilment of the condition is expressed by the perfective imperfect dadéase.
In (187) the condition is given by an imperfect of the prefixed determinate
VOM swniti, of which I will show that it behaves as a perfective verb in
Chapter 9 (section 9.3). So in example (187) the chain of events can be said to

5! At least the imperfective aorist in the strict sense of the term, hence, no anaspectual aorists.
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consist of two perfective imperfects, while in (186) there is no way to establish
the aspect of selucaase. There is an example of an imperfect of a prefixed
Leskien’s class II verb, of which I will argue in section 9.2.3 that they can be
regarded as perfective verbs, in which the condition is expressed by an
imperfective imperfect, proklinaase:

(188) proklinaase™" smokbvnicq i isexnéase™" [S]
if he cursed a fig tree, then it was bound to wither (476, 23-24)

In yet another example the condition is introduced by present participles:
(189) isxozdaaxQ™" Ze bési otb mbnogs . vbpijoste™™A? i gl[agol]joste
éko ty esi x[ristos]® s[y]nb b[o]zii . i zapréstaje ne dadéase™* imb
gllago]lati . ko védéaxg glospod]é samogo sosta [Z]

demons also were coming out of many, shouting, “You are the Son of
God!” But rebuking them, He would not allow them to speak, because
they knew Him to be the Lord himself (Luke 4:41, my translation)*

PresAP

Sometimes the condition is implicit, as in the following example:

(190) i nazeréaxg™" i kenizenici i fariséi aste vb sobotg iscélity i [M]*
the scribes and the Pharisees would watch Him closely to see if He
healed him on the Sabbath (Luke 6:7, my translation)*

It is good to mention that Marianus in Luke 4:41 (example (189)) has dajase
from imperfective dajati and that Zographensis and Assemanianus have
naziraaxg in Luke 6:7 (example (190)). I think the difference between a
perfective imperfect and an imperfective imperfect in this habitual function
can be compared to the difference between a perfective and an imperfective
present in generalized utterances. I have demonstrated that a perfective
present can be used to exemplify a recurring phenomenon in OCS. Forsyth
(1970: 174) argues that the perfective present in Russian expresses the event in
such cases as a contingency: the event occurs from time to time when the

5* The English translation follows the Greek and has “[...] knew him to be the Christ”, which is
also the version of the Marianus.

53 Assemanianus and Zographensis have iscélitv, the form iscélity can be attributed to the following
i, resulting in iscélitvi-i.

¢ The OCS utterance is somewhat cumbersome. The first part of the sentence seems to refer to a
general event: the scribes and the Pharisees were in the habit of watching Jesus closely on the
Sabbath. The second part, with the direct object i ‘him’, refers to the specific event on that
specific Sabbath, not to a habitual event. The direct object is not present in the Greek original and
might thus be a later addition, perhaps connected to the use of the perfective icéliti, which
normally requires an object, but can be explained here as well by pointing at the Greek future
Oepamevoer in the Byzantine version.
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appropriate circumstances occur (cf. Barentsen 1995: 21). ¥ These
circumstances do not always have to be mentioned explicitly (cf. Dickey
2000: 57, Fortuin & Kamphuis 2015: 176-177). This is comparable to the use of
the perfective imperfect in OCS. In a generalized context, the perfective
imperfect is used to explicitly indicate that the event occurs on more than one
occasion, but the imperfective imperfect simply expresses that an event
occurs regularly, without referring to the emergence of the appropriate
circumstances, just as the imperfective present.

Furthermore, it is interesting to note that the combination of perfective
aspect with present passive participles also results in a modal interpretation.
A closer look at these rare forms reveals that they have a specific ‘potential’
semantics. Most of them are negated, like nepobédims ‘invincible’ from
perfective pobéditi ‘conquer’, neugasims ‘inextinguishable’ from perfective
ugasiti ‘extinguish’, nerazorims ‘unbreakable’ from perfective razoriti
‘destroy’ and meutésimv ‘inconsolable’ from perfective utesiti ‘comfort’.
However, I also found ‘positive’ formations like icélima ‘curable’, next to
neicélims ‘incurable both connected to perfective icéliti ‘heal’. A comparison
of icélims and neicélims is useful to show how conditionality plays a role in
these formations, a conditionality which is reminiscent of the conditionality
as expressed by perfective imperfects. The positive variant icélima refers to
the fact that an affection can be cured, when the right circumstances occur,
which clearly makes it a conditional event. The negated variant excludes the
possibility of any circumstances in which the illness can be cured. Examples
are:

(191) o vele velikoe neicélimoje™™** uzestocenije [S]

o great incurable bitterness (339, 5-6)

PresPP

(192) sb jestp [...] glospod]p silend i kréppks i nepobédimo Vb
branexs [S]
this is [...] a powerful and strong God and invincible in battle (466,
28-30)

Similar participles of perfective verbs can be found in Modern Russian as
well. These are often negated, like nepobedimyj ‘invincible’ connected to
perfective pobedit’ ‘conquer’ and nepogresimyj ‘infallible’ from perfective
pogresdit’ ‘sin, err’, but positive formations also exist, e.g. obozrimyj ‘visible’
connected to perfective obozret’ ‘survey, view’. It would be interesting to
compare these perfective present passive participles more in detail to

% Kalsbeek (2012) argues that this conditional function of the perfective imperfect can be
connected to the loss of the perfective imperfect in BCS and the rise of the conditional to denote
repeated events in the past.
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imperfective present passive participles, but space considerations do not
allow me to go deeper into this matter. I would guess, however, that in most
cases the imperfective participles will not have the potential reading of the
perfective, as the following example indicates (cf. example (70) in Chapter 6):

193) i vsi gospodbng blagodatbo icélaemi®™®* otbpxozdaaxg [S]
gosp &

and all who were being healed by the grace of God went away (518, 26-
27)

8.3 Anaspectual verbs

The rarity of the imperfective aorist and the perfective imperfect (as well as
the perfective present passive participles) and their specialized usage, reflects
an overall incompatibility of imperfective aspect with boundedness and of
perfective aspect with unboundedness. The group of anaspectual verbs does
not show this kind of general incompatibility. Still, verbs within the
anaspectual group do not all have similar profiles and behaviour.

When it comes to compatibility with forms that express a specific kind of
temporal boundedness (aorist and past participles), 198 out of 521 verbs in the
anaspectual category are attested at least one time in such a form. The
number of forms that express unboundedness (imperfect and present
participles) is 386 out of 521. A total of 145 anaspectual verbs have attestations
from both groups. It is important to note that these 145 verbs account for
23,505 anaspectual attestations, out of a total of 26,683. This means that at
least some of the absence of either aoristic or imperfect attestations in the
other verbs must be attributed to chance. A good example is the verb plesati
‘dance’, which is only attested in the aorist and past participles, but which
almost certainly must have been used in the imperfect and present participles
as well. However, there are other factors influencing the profile and the
behaviour of individual verbs, the most important of which being the lexical
content of the verb. One of those factors is the relationship that anaspectual
verbs have with other verbs (e.g. a prefixed formation, like with alzkati
‘hunger’ and vezalvkati ‘become hungry’) that fill in’ for them in certain
contexts, like in the translation of Greek future forms, which logically,
reduces their presence in such contexts. Below, I will first discuss two main
groups of anaspectual verbs and subsequently the relationship of anaspectual
verbs with other verbs.

8.3.1 Inherently aterminative anaspectual verbs

A closer look at the anaspectual verbs reveals that are two main groups of
anaspectual verbs. The first group is the group that does not allow a
terminative construal. This makes them less compatible with the aorist,
which is the standard past tense for terminative events of which the boundary
is presented as attained.
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Clear examples of this are the verbs of bodily position leZati ‘lie’, stojati
‘stand’ and sédéti ‘sit’, verbs in which the stative -é- is visible, after patals -
a- (cf. Schuyt 1990: 15). Still, all of these verbs are sporadically attested in the
aorist, (often with one or more codices having an imperfect), which means
they are presented as being somehow bounded. In Matthew 26:55 there is an
example of the aorist of sédéti:

(194) po V's¢ d’ni sédéxs™ sb vami . vb crkbve uée . i ne jeste mene [Z, Sk]
po vbse dbni sédéaxs™ pri vasp vb crkve i ne jeste mene [M, A]*
every day I used to sit in the temple teaching and you did not seize Me
(Matthew 26:55)

The example in Zographensis and Marianus shows a strong resemblance to
example (150) where the aorist ucixs is used in a retrospective utterance with
a simple denotation function. The only difference is that the Greek original
has an aorist there and an imperfect in case of example (194), and the form
sédéxw could also be seen as a contracted imperfect, unlike ucixs. However,
the use of the OCS aorist seems perfectly natural in this example as well: the
verb refers to a total event that has no inherent boundary. The translation of
sédéxw as a retrospective form as in Zographensis and Marianus would be I
have been sitting’. The imperfect in the Marianus and Assemanianus does not
express this nuance of totality or boundedness, but rather emphasizes the
habituality of the event, as does the English translation as well as the
imperfect of the Greek original.

The few examples of the aorist of stojati also indicate a bounded event that
does not express an inherent boundary. In example (195) the function of the
aorist is again that of simple denotation, indicating an event that is now in the
past, without any reference to a result, translating the Greek aorist éoryoav
‘they stood’, while in (196) the event is part of a narrative, translating the
Greek pluperfect eiotjicer.

(195) poklonim® sj¢ na mésté . ideze stoéste* nodzé ego [Ps]
let us worship at the place where his feet stood (Psalm 131: 7)

(196) petrp ze stoja*™ préds vraty vené . izide Ze uéenik® tb . ize bé znaems
arxiereovi . i rece vratarevi vbvedi petra [Sk]
petrb Ze stoése™ pri dverexp vbné . izide ze ulenikp tb . ize bé
znaemd arxiereovi . i re¢e dverenici vbvede petra [Z, A]
but Peter was standing at the door outside. So the other disciple, who
was known to the high priest, went out and spoke to the doorkeeper,
and brought Peter in (John 18:16)

56 Assemanianus has ve crkve uce, like Zographensis and Savvina Kniga.
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The aorist in (196) is probably used to indicate that Peter was not simply
standing around there, but that for some reason he was stopped on his way in
and from then on had been standing there, hence the temporal boundary lies
at the beginning of the event. This fits with the preceding text Simon Peter
was following Jesus, and so was another disciple. Now that disciple was known
to the high priest, and entered with Jesus into the court of the high priest (John
18:15).

Other frequent inherently aterminative verbs with attestations in the aorist
are plesati ‘dance’ (cf. example (144), tropéti ‘endure’ (cf. example (105)) iskati
‘search’™, mysliti ‘think’ and bljusti ‘guard’ (see below for examples of the
latter three verbs). The aorist of iskati in the following example is a
translation of the Greek aorist é(fityoav:

(197) ti Ze vbsue iskase* d[u]$a moej¢ . da vbnidots vb préispodeneje zemli
[Ps]
but those who, to no avail, have been seeking my life to destroy it, will
go into the depths of the earth (Psalm 63:9, my translation)

The aorist is again used to indicate a total event, even though the predicate
does not express an inherent boundary. Compare also the following example
of the aorist of mysliti:

(198) 1ilixo swtvorixp™ . i lixo myslixs*™ [Es]
and I have done worse and thought worse (72a, 9-10)

Examples (197) and (198) are again retrospective examples, but the aorist of
aterminative activity verbs is also regularly used in a sequence of events to
indicate that the event took place for a limited period of time, like in the
following example of bljusti, translating the Greek aorist épviaéav:

(199) oni Ze svtvori$e tako . i bljudise® jego sb straxomd velikomd .
ostavivbse i tu do svéta [S]
and they did like that and guarded him with great fear, leaving him
here until the light of day (261, 11-13)

The aorist of bljusti indicates that the event took place for some time, before
it was cut off by the ‘light of day’.

In some cases the aorist comes close to indicating the start of an event:

7 Bermel (1997: 55-56) calls iskati a conative verb, since it can never express the attainment of an
inherent boundary.
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(200) 1ii$pdb vens plaka™ se gor'’ko [Z, M, A, Sk]**
and he went out and wept bitterly (Matthew 26:75)

The main difference with the perfective ingressive vesplakati ‘start crying’ is
that the event is still presented as unbounded, which leads me to interpret it
as having some duration (cf. Hercigonja 1961: 96-97). With vesplakati the
focus would only be on the change of state from not crying to crying, while
here the event in its totality is in focus.

Yet other verbs in this category of inherently aterminative anaspectual verbs
are not attested at all in aorist forms. This concerns verbs like podobati
‘behove’ and alvkati ‘be hungry’, pesti s¢ ‘be engaged with’.

It is difficult to draw an exact line between events that allow a terminative
construal and events that do not. Differences in profile between verbs are not
always decisive. I have mentioned the case of the verb plesati ‘dance’, (9
attestations in OCS), which is not a terminative event, but which is still
attested 6 times in the aorist and 3 times in the PastAPI. Sometimes, verbs
that appear to have the same lexical type, like the states bojati s¢ ‘be afraid’
and alskati ‘be hungry’, show deviating profiles: the aorist of bojati s¢ can be
used to indicate the start of a state of being afraid, competing with ubojati s¢
‘become afraid’, while alokati is not attested in this context as competing with
vozalvkati ‘become hungry’. Given the relatively small body of material, it is
hard to say whether this means that alekati really could not be used in
terminative predicates to indicate the beginning of a state. However, the fact
remains that it is not attested in such predicates in OCS.

In short, there are a number of verbs in OCS that are never used in a
terminative predicate. This concerns stative verbs, like verbs of bodily
position, and aterminative activities that do not allow a terminative construal,
or are at least not attested in a terminative predicate. Since events like this are
never presented as having attained an inherent boundary, for which the aorist
would be the unmarked past tense, they are less often attested in the aorist
and therefore show a profile which is rather similar to imperfective verbs.
However, the combination of the aorist with these verbs does not result in
two levels of boundedness and the very specialized meanings that I have
demonstrated for the aorist of imperfective verbs.

¥ In Luke 22:62, describing the same event, where the Greek has the same aorist form, éxdavoev,
Zographensis has an imperfect plakaase s¢, while Marianus still has an aorist plaka se.
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8.3.2 ‘Terminativizable’ anaspectual verbs®

Because of the issues mentioned, the other group of anaspectual verbs, the
verbs that can be used in terminative predicates, cannot be exactly defined
either. Had there been more texts, perhaps the difference between inherently
aterminative anaspectual verbs and terminativizable anaspectual verbs would
emerge more as a continuum. However, I must work with the material I have
and splitting the group of anaspectual verbs up into two according to their
terminativizability seems like a good way to demonstrate why profiles and
behaviour differ among the anaspectual verbs. Hence, I will discuss the group
of anaspectual verbs that are attested in terminative predicates below. I will
show that when they occur in the aorist in terminative predicates, these verbs
often express meanings that are not very different from those expressed by
perfective aorists. This characteristic makes them very different from
imperfective verbs, which always defocus the inherent boundary.

Just like in the inherently aterminative group, where there are two main
groups, namely the stative verbs of bodily position and aterminative
activities, subdivisions can also be made within the terminativizable group.
First there are activities like jasti ‘eat’ and piti ‘drink’, which occur in
terminative predicates with the addition of a discrete object, e.g. ‘he drank the
wine’, but also occur freely without an object to refer to an activity (much like
plesati ‘dance’ or plakati ‘cry’), e.g. ‘he was drinking’. A verb like tvoriti
‘make, do’, which is also an activity, is more prone to take a terminative
construal, because the association of this verb with an object is stronger; one
is normally not just engaged in ‘doing’, while one can be engaged in ‘eating’
(but see example (205)). Even though these activities are compatible with
terminative construals, they are often still used to refer to aterminative
activities, even when they are presented as temporally bounded by means of
an aorist. Verbs of perception like vidéti and slySati, which in a way always
indicate the attainment of a boundary (one cannot see an apple without
having seen it, but one can eat an apple without having eaten it), can also
refer to an aterminative activity, for example in the imperfect or present
tense. However, with these verbs it is harder to find convincing examples in
the aorist in an aterminative predicate. Finally, verbs like diviti s¢ ‘marvel’,
bojati s¢ ‘be afraid’, vérovati ‘believe’, also occur in aterminative predicates in
the present tense or in the imperfect, but in combination with the aorist are

1 think the term ‘telicizable’ sounds much better. However, I have to be consistent and my
choice for ‘terminative’ instead of ‘telic’ (cf. section 2.1.4) precludes the use of ‘telicizable’.
Moreover, some of the aorist of these aterminative verbs would not express telicity in the narrow
sense of the meaning ‘goal oriented activity’. Compare the aorists of stative verbs diviti s¢ ‘marvel’
or bojati s¢ ‘see’ that indicate the beginning of a state (examples (215) - (217)).
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automatically terminative.®® When these verbs occur in an aterminative
predicate they refer to a state, while in a terminative construal they refer to
the start of the state (cf. Chapter 2, section 2.5.1).

In the verbs like jasti and piti, the aorist often occurs in aterminative
predicates with a simple denotation function, like in the following examples
translating Greek aorists:

(201) tpgda nadetp gllago]lati éxoms™™ préds tobojo i pixoms™™ [Z, M, A,
Sk]
then you will begin to say, 'We ate and drank in Your presence (Luke
13:26)

(202) ide popelp éko xlébb ésv™" . i pitbe moe sb plademd rastvaréaxs™"
[PS] 61
for I have eaten ashes like bread and mingled my drink with weeping
(Psalm 102:9)

However, I found an example of the aorist of jasti expressing a terminative
event of which the boundary is reached:

(203) kako venide vb doms b[o]zii . i xléby prédplozenné ésta™ . i dastw
so$tim® sb nim®s [Z, M, A]
how he entered the house of God, and ate the consecrated bread and
gave it to his companions (Luke 6:4, my translation)

Here it is clear that David, the subject of this predicate, is said to have eaten
the consecrated bread (not just of the bread). In other versions of the same
story, with the same Greek original aorist, épayev (Matthew 12:4, Mark 2:26),
OCS uses an aorist of the perfective verb senésts ‘eat up’, showing how close
the meaning of the simplex in this predicate is to that of the perfective verb:

(204) kako vbnide vb xram® b[o]zii i xléby prédlozeni¢ ssnéste™ [...] i
dast® i so§tims sb nim® [Z, M, A, Sk|
how he entered the house of God and ate the consecrated bread [...]
and gave it to his companions (Matthew 12:4, my translation)®

% That is, I have not been able to find aterminative predicates with an aorist of these verbs.

' In addition to this interesting use of the aorist of jasti, the text has another interesting feature:
the last a in rastvaréaxw ‘I have mingled’, is added supralinearly. This could mean that the copier
meant to use an imperfective aorist in a context of simple denotation, just as the aorist of jasti,
after which he was corrected, or corrected himself. The Greek original has an imperfect éxipvwv,
which makes it logical to presume that the original OCS translation also had an imperfect.
Moreover, the form rastvaréxs could be interpreted as a contracted imperfect as well. Either way,
it is peculiar that this correction should occur here.
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There does not seem to be much difference between the OCS versions of
Luke 6:4 and Matthew 12:4, hence between the aorists of jasti and senésti in
these contexts, save for the fact that the finishing of the consecrated bread
receives more emphasis in (204).%

In other cases, the difference between the anaspectual verb and the prefixed
perfective verb conveys a more substantial difference in meaning, like in the
following examples of the use of an aorist of tvoriti and swtvoriti, translating
the Greek aorist énoinjoa:

(205) obrazp dax® vams . da €koze azp tvorixs* vams . i vy tvorite [Z]
obrazp bo daxp vam® . da ékoZe azb sotvorixe® vamws . i vy tvorite
[M, A, Sk]
for I gave you an example that you also should do as I did to you (John
13:15)

In the Zographensis the aorist of tvoriti refers to Jesus’ actions throughout his
time with his disciples, this could even be translated as ‘how I behaved/was
with you’, while the aorist of swtvoriti in the other three codices can be
understood as either referring to a concrete example of behaviour, or maybe
as a way of summarizing all behaviour into one event.

The verb povsati ‘write’ shows interesting behaviour as well. Both the aorist of
posati and of naposati ‘write down’ are found translating Greek &ypayev:

(206) 1 g[lago]la emu . egoze psa® mos[e]i vb zakoné i proroci . obrétoms
is[us]a s[y]na iosifova . iZe ot® nazareta [Z, M, A, Sk]
and said to him, “We have found Him of whom Moses in the Law and
also the Prophets wrote Jesus of Nazareth, the son of Joseph” (John

1:45)

(207) 1 otbvéstavp is[usp] . re¢e imb . po Zestosrbdiju vasemu . nap’sa*”
vamd zapovéds sbjo [Z, M]%
but Jesus said to them, “Because of your hardness of heart he wrote
you this commandment” (Mark 10:5)

The difference may lie in the fact that in the example (206) the object is not a
discrete object like a completed book, letter or law, but writings about
someone in certain books, while in example (207) there is a discrete object
‘this commandment’. Moreover, as Hercigonja (1961: 101) remarks, the event

© The version in Matthew contains some extra text, which I have left out to make comparing
easier.

“In this case the ‘eating up’ of the consecrated bread is grammatically ascribed to David, but
from the rest of the sentence it is clear that he did this together with his companions.

¢ Marianus has the aorist napisa.
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took place over a longer period of time, as there are more writers (Moses and
the Prophets), even though the verb form is singular. However, there is also
one example in which the anaspectual pwsati is used with a discrete object,
where the duration of the event does not seem to play any role, (translating
the Greek perfect yéypaga):

(208) otwvésta pilats . eze p’saxv™™ p’saxe™ [Z, M]%
Pilate answered, “What I have written I have written” (John 19:22)

Compared to Bible translations of modern Slavic languages, OCS is similar to
Bulgarian, which also uses pisax here, while all other modern Slavic languages
use a form of napvsati. This is clearly an instance of simple denotation in
OCS and Bulgarian.

Examples of aorists of verb like vidéti ‘see” and slysati ‘hear’, are hard to find
in aterminative predicates, even though these verbs are very frequently
attested in the aorist (vidéti 416 and slysati 152 times). Hence, when a seeing
event or a hearing event is presented as bounded, it is easily construed as an
achievement. This does not automatically mean, however, that the aorist
presents the inherent boundary as attained. Compare the following example:

inf

(209) mnozi proroci i pravedenici . vbzdelése®™ vidéti™. éze viditeP™ . i ne
vidése™™ . i slysati™™ . &Ze slysite?™ . i ne slySase*™ [Z, M]
many prophets and righteous men desired to see what you see, and
did not see [it], and to hear what you hear, and did not hear [it]
(Matthew 13:17)

The modern Slavic translations show an interesting variation in this text.
Some translate with perfective verbs (e.g. Bg vidjaxa and ¢uxa) but others do
not (Ru videli and slysali). I think this shows the ambiguity of this example,
in which the aorists refer to terminative events, but leave the inherent
boundary rather vague. The use of aorists of the prefixed verbs uzovréti ‘see,
catch sight of and uslysati ‘hear’ would have emphasized that those prophets
and righteous men did not see exactly what the disciples are seeing, while the
use of these anaspectual aorists gives more of a sense of “there was nothing
for them to see”. I therefore interpret these cases as cases of simple
denotation: no seeing or hearing event took place.

% Pilate refers to an inscription that he put on the cross. The sign reads “Jesus the Nazarene, the
king of the Jews”.

It is interesting to note the use of aspect by Hercigonja (1961: 99) when he discusses this example.
He states that the aorists here means “$to je napisano® (tj. pisano™ i napisano™)” and that it
concerns something that is “vrseno™ i izvreno™. It is reminiscent of the way Dostdl discusses
examples of verbs that he considers biaspectual by giving two translations in Modern Czech (cf.
Chapter 4, examples (25) and (27)).
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One regular use of the verb slysati is in the phrase ‘you have heard’, when
referring to stories people must have heard being read from the books of
Moses of the prophets. This again is a case of simple denotation, which
focuses neither on the activity or hearing, nor on a change of state, but simply
on the fact that the event has taken place, as in the following example
translating the Greek aorist fxodoare:

(210) slysaste™ ¢€ko receno bys[tp]. vbzljubidi podruga svoego . i
vbsnenavidisi vragy svoje [Z, M, A, Sk]
you have heard that it was said, “You shall love your neighbor and
hate your enemy” (Matthew 5:43)

However, the aorist is also frequently used in a narrative context to indicate a
change of situation, like in the following example where the aorist is a chain
in the story, followed by an imperfect iskaaxg:

(211) i sly$ase konizenici . i arxierei . i iskaaxo™' kako i bo pogubili [Z,
M]
the chief priests and the scribes heard this, and began seeking how to
destroy Him (Mark 11:18)

These verbs of perception are also found in the PastAPI in a similar narrative
context, like in (212) where it is followed by two anaspectual aorists:

(212) vidéve™*** ze is[usp] . negodova® i gl[agol]a® im® . ne déite détii

prixoditi kb mné [Z, M]
but when Jesus saw this, He was indignant and said to them, “Permit
the children to come to Me” (Mark 10:14)

In this context vidéti and slysati compete with prefixed verbs (uslysati ‘hear’
for slysati and uzoréti ‘see’ for vidéti, as becomes apparent from the many
cases of the variation between codices:

(213) 1islysaste* i oba ucenika g[lago]ljosts . i po is[us]¢ idete** [Z, M]
i uslySaste™ i oba u¢enika g[lagoljo]sta . i po is[us]é idoste*” [A]
the two disciples heard him speak, and they followed Jesus (John 1:37)

(214) 1 priseddp otb todé vidé** ina v bratra . i¢ko[va] s[y]na zevedeova . i
ioana brata emu [Sk, Z]
i préseds otb todé . uzoré®™ ina dbva bratra . iakova s[y]na zevedeova i
ioana bra[ta] ego [A]
going on from there He saw two other brothers, James the son of
Zebedee, and John his brother (Matthew 4:21)
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Finally, there are also stative verbs that, when used in the aorist, automatically
focus on the start of that state (cf. also example (8) in Chapter 2, with and
aorist of bojati s¢ ‘be afraid’):

(215) fariséi ze vidévp divi s¢* . €ko ne prézde krbsti s¢ provée obéda [Z, M]
when the Pharisee saw it, he was surprised that He had not first
ceremonially washed before the meal (Luke 11:38)

(216) tpgda Ze vbnide® . i drugy uleniks pridedy®s“*"
vidé* i vérova*™ [M, A]
so the other disciple who had first come to the tomb then also entered,

and he saw and believed (John 20:8)

prézde kv groby . i

(217) néste li nikolize ¢pli™*™ ¢pto sptvori®™ da[vilds . egda trébova® . i

vbzalka® sam i ize béaxq s nimd [Z, M, A, Sk]

have you never read what David did when he and his companions
found themselves in need and became hungry (Mark 2:25, my
translation)

In the last example, the aorist of trébovati ‘be in need’ is used to translate the
Greek aorist ypeiav €oyev and the aorist of the prefixed vezalvkati ‘become
hungry’ to translate the aorist émeivaoev, both indicating the start of a new
state. It is interesting to see that OCS uses these two verbs in the same
function, but it also raises the question why in some cases OCS almost
automatically uses a prefixed verb in such contexts, while in other cases there
is variation, or even no alternative attested at all, like in the case of trébovati,
but also negodovati ‘be displeased’. In a more general sense, the question is
what the relationship between anaspectual verbs and their prefixed partners
is in OCS.

8.3.3 The relationship between anaspectual and other verbs

In this study I have tried to show that verbs that are not perfective are not
automatically imperfective in OCS. Many verbs that are traditionally treated
as imperfectives, like lezati ‘lie’, pvsati ‘write’, bojati s¢ ‘be afraid’ and znati
‘know’ or verbs that are treated as biaspectual, like jasti ‘eat’, klgti s¢ ‘swear’ or
vidéti ‘see’, are in fact members of one large category of verbs that do not
express Slavic-style aspect at all and are therefore in principle compatible
with both typical perfective and imperfective contexts. In the preceding
sections, I have demonstrated that the group of anaspectual verbs is rather
divergent and that the compatibility of individual verbs with particular
contexts strongly depends on the lexical content of a verb. For example, verbs
of bodily position are never used in terminative predicates and are not
normally used in a sequence of events (but cf. example (196)) which reduces
the chance of them being attested in the aorist. And some verbs expressing a
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state (of mind) are easily used in the aorist to indicate a change of state, while
others are not.

One recurrent theme is the ‘competition’ with other forms. When
anaspectual verbs are used in terminative predicates, they compete with both
imperfective and perfective verbs. For example, from the anaspectual spditi
judge’ a prefixed ospditi ‘judge’ is derived, from which subsequently the
prefixed imperfective verb ospZdati ‘judge’ is derived. Variation between the
codices shows that the verb spditi competes with both verbs. In the following
generalized utterance, for instance, it competes with ospZdati:

(218) eda zakon® nase sodite™ ¢[lovelku aste ne slysits otb nego prézde i
razuméjots ¢bto tvorits [Z, M, A]
eda zakonp nas$p osoZdaeto™ ¢[lovelka aste ne slysitp otp nego
prézde i azuméjots Cto tvorits [Sk]
our Law does not judge a man unless it first hears from him and
knows what he is doing, does it (John 7:51)

The anaspectual present spdits in example (218) is used to simply express a
generalized event, while the prefixed imperfective present ospZdaets presents
it as a general rule, an unbounded macro-event, which consists of terminative
micro-events. The difference is subtle and often untranslatable into English
(the difference is comparable to the difference between Dutch oordelen
‘soditi” and veroordelen ‘osqditi/osqzdati’).

Similar competition is regularly found in the translation of Greek future
forms. I have already discussed example (106) where soditi competes with
ospditi in the translation of a Greek future (example repeated as (219)):

(219) ot ustd tvoixd spZdoP™ te [M, A]
otb ust'b tvoixb 0s9ZdgP™ te [Z]
by your own words I will judge you (Luke 19:22)

There are more such examples, for example with the verb tvoriti ‘do, make’:

(220) déla éze tvorg . i tb tvorite™ . i bolbsa tvorite™™ sixb [Z (A, Sk)]¥
déla €Ze tvorg . i tb satvorite?™ . i bolbsa setvorite™ sixp [M, A, Sk]
the works that I do, he will do also; and greater works than these he
will do (John 14:12)

¢ Also note the difference between the dative ¢[loveJku and the accusative ¢[love]ka.

7 Assemanianus and Savvina Kniga have two versions of this text. In one of those, the first verb is
an aorist of the anaspectual tvoriti and the other of perfective sotvoriti, in the other version both
verbs are perfective.
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Interestingly, some anaspectual verbs are never attested in the translation of a
Greek future form, but instead a prefixed formation is used. This could
indicate that the division of functions was rather strict between these
anaspectual verbs and prefixed formations, reminiscent of the division of
functions between the verbs in an aspect pair. For example, the anaspectual
verb alekati ‘be hungry’, plakati ‘cry’ and rydati ‘mourn’ are never used to
translate a Greek future form, unlike spditi and tvoriti:

(221) gore vamd nasystenii ¢ko vezallete™ se . gore vambp sméjostei s¢
nyn¢ éko vezdrydate’ i vosplacete’ se [M, Z]
woe to you who are well-fed now, for you shall be hungry. Woe to you
who laugh now, for you shall mourn and weep (Luke 6:25)

This difference in division of labour is not restricted to the translation of
future forms, but can also be found in contexts where aorist forms are used to
express a change of state. I discern three groups.

First, some anaspectual verbs do all the work by themselves, like negodovati
‘be displeased’, and trébovati (cf. example (217)) of which there are no
prefixed partners and which are therefore regularly attested as expressing the
change of state between not being angry and being angry:

(222) vidévs Ze is[usp] . negodova® i g[lago]la im® [Z, M]
but when Jesus saw this, He was indignant and said to them (Mark
10:14)%

At the same time, these verbs occur in typical aterminative usage as well:

(223) i &ko ne trébovase™" . da koto spvédételbstvujets o ¢[love]ci . sam®
bo védéase ¢oto bé v ¢[love]ci [Z, M]
and because He did not need anyone to testify concerning man, for He
Himself knew what was in man (John 2:25)

(224) isly$avese Ze decets . nadese™ negodovati™ . o i¢kové . i oan’né [Z, M,
A, Sk]
hearing this, the ten began to feel indignant with James and John
(Mark 10:41)

In example (223), the imperfect of trébovati refers to a state and in (224) the
infinitive of negodovati is used after a phase verb, and refers to a state as well.

It is interesting to also take into consideration the English translations in which the successive
states are part of the interpretation, but the change of state is often left implicit. To emphasize a
change of state, English could use became indignant, but in contexts like this there is no need for
that in English.
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The predicate in (224) is terminative, but this is thanks to the aorist of the
auxiliary nacese, the infinitive negodovati refers to an aterminative event.

Secondly, there are verbs like radovati s¢ ‘be happy’, which are never used to
express a change of state and in that respect are the mirror image of
negodovati. Instead of radovati se the prefixed verb vezdradovati se ‘become
happy’ is used to translate the Greek aorist éydproay:

(225) oni Ze slySavpse . vozdradovase™™ se . i obéstase s¢ emu svrbreniky [Z,
M]
they were glad when they heard this, and promised to give him money
(Mark 14:11)

In this respect, the verb radovati s¢ and vezdradovati s¢ is comparable to, for
example, alvkati ‘be hungry’ with vezalvkati, kolébati ‘move’ with veskolébati
‘start moving” and znati ‘know’ with poznati ‘get to know’. Of znati there
some are aorist attestations, but none refer to a ‘get to know’ event. Compare
the following example, in which the aorist is used in a simple denotation
function, referring to the past occurrence of a state:

(226) itogdaispovéms im® . ¢ko nikolize znaxs* vass [Z, M]
and then I will declare to them, “I never knew you” (Matthew 7:23)

When the aorist of the same Greek verb, yivdokw, is used as ‘get to know,
recognize, OCS uses the prefixed verb poznati:

(227) 1ita povédaasete éze byse na poti . i €ko se pozna® ima v prélomlenii
xléba [M, A]
they began to relate their experiences on the road and how He was
recognized by them in the breaking of the bread (Luke 24:35)

The verbs lezati ‘lie’, stojati ‘stand’ and sédéti ‘sit’ could be added to this
group. For these verbs a separate set of verbs refers to the change of state of
bodily position, namely lesti ‘lie down’, stati ‘stand up’ and sésti ‘sit down’.

Finally, there is the group of anaspectual verbs that can express a change of
state, but of which also a prefixed verb can occur in that context. The
example I used in Chapter 2 was of bojati s¢ ‘be afraid’ and ubojati s¢ ‘become
afraid’, and in the present chapter I have given examples of variation between
Gospel codices with verbs like vidéti ‘see’ and uzvréti ‘see, notice’, slySati
‘hear’ and uslySati ‘hear’. More examples can be found if one looks for
variation in this context. For example, while there is no variation between
Gospel codices between aorists of diviti s¢ ‘marvel’ and podiviti s¢ ‘marvel’,
(diviti s¢ is used in all contexts) the verb podiviti se ‘become surprised’ is
attested in this context in the Suprasliensis:
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(228) on® Ze priimd i polstd . podivi™ se vbzvésteniju [S]
but when he had received it and read it, he was surprised by the
message (558, 30 - 559, 1)

Unlike the opposition between perfective and imperfective verbs, in which
there is a rather neat division of labour in various contexts (e.g. future
reference and narrative sequences in the aorist are almost always perfective),
the division of labour between the anaspectual verbs and prefixed verbs
varies. In some cases, the division is reminiscent of the division of labour
between an aspect pair. For example, alokati ‘be hungry’ is never used to
translate Greek future forms and also never expresses a change of state. It
may be that the aspect pairs in OCS form a model that reshapes the
relationship between other pairs. This also seems to be the case for a number
of other verb pairs (prefixed VOMs, Leskien’s class II verbs), which I will
discuss in Chapter 9. These facts combined give the impression of an already
firmly rooted derivational aspect opposition that has an influence on the
behaviour pairs that have another origin.

However, there are some important differences between anaspectual verbs
and imperfective verbs. First, some anaspectual verbs are really ‘stand-alone’
verbs, that occur in all contexts (e.g. trébovati ‘be in need’ and negodovati ‘be
displeased’. Secondly, verbs in a ‘pair’ of anaspectual and prefixed verbs (e.g.
slysati - uslysati ‘hear’ or diviti se - podiviti s¢) often compete with each other
when it comes to future reference or a context in which a change of state is
expressed. Hence, the functions are not as neatly divided amongst the
partners. Thirdly, some of these pairs show a similar division of labour (e.g.
bojati se - ubojati se ‘be afraid’ and znati ‘know’ - poznati ‘know’), but differ
from a true aspect pair since e.g. bojati se and znati are also used in
aterminative predicates, even if the event is presented as bounded with an
aorist (cf. example (226)).

All this shows that the anaspectual verbs do not form a coherent part of the
aspect system in OCS, but rather are a diverse group of verbs that only have
in common the fact that they occur in aterminative predicates.

In the following section, I will discuss some verbs that fall within the
anaspectual category based on the categorization in this study, but that show
great similarity to perfective verbs: they normally express a terminative event
of which the inherent boundary is attained and they are not or only very
rarely attested in aterminative use.

8.3.4 Some dubious anaspectual verbs

As I already mentioned, the verb resti ‘say’ is not the prototypical anaspectual
verb. The many attestations (3,878) provide quite good view of this verb and
the absence of imperfect attestations can hardly be attributed to chance (cf.
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the verb plesati ‘dance’ with only ¢ attestations, where the absence of
imperfect or present participles can easily be attributed to chance). The
profile of resti is typically perfective, with many aorist attestations and past
participles. And the present tense forms normally refer to a future event, just
as with perfective verbs. Dostal (1954: 69) states that resti must have been
biaspectual once, based on the attestations of present participles. This remark
can only be understood if one understands that Dostal approaches aspect as a
characteristic of individual attestations. However, in the approach of this
study such a remark is not really significant, as all verbs were anaspectual
before the development of the Slavic-style aspect system, even though some
undoubtedly were more compatible with functions that are currently
associated with one of the aspects, while others were more compatible with
functions that became the territory of the other aspect. With the development
of the aspect system, highly terminative verbs developed a derived partner
and became perfective in that way (Maslov 1961: 190-192). Most of these
highly terminative verbs were prefixed verbs, but there are a number of
simplex verbs as well that became part of an aspect pair, resulting in
unprefixed aspect pairs (e.g. dati - dajati ‘give’ and aviti se - avljati se
‘appear’). It appears that resti either did not belong to these highly
terminative unprefixed verbs when the aspect system developed and
therefore did not develop a derived partner (*ricati, the form is only attested
in prefixed formations, like in the pair proresti - proricati ‘prophesy’)®, or it
immediately developed/already had an aspectual relation with glagolati ‘say,
speak’ resulting in the non-development of a derived partner, or the untimely
demise of such a form. The only deviating examples of resti in OCS are
formed by the present participles with 31 attestations in OCS (19 PresAP and
12 PresPP). Examples of the use of PresAP can be found in the Suprasliensis:

(229) ne otbvéita li jemu blaZenyi petrs . reky ™A

(S]

did not the holy Peter answer saying, “repent for these sins” (363, 9-11)

pokai s¢ otp zblobi se¢™®

“In fact, there are two verbs proricati ‘prophesy’, one having -ati, -je- and one extra derived
having -ati, -aje- (cf. section 9.5). This is reminiscent of the prefixed pairs derived from
dati - dajati ‘give’, that have extra derived forms -davati, like podati - podajati - podavati ‘give’
where the first derived verb has -ati, -je- and the second -ati, -aje-. However, unlike in case of
resti, there is an unprefixed pair dati - dajati as well.

7¢ Almost all attestations of the PresAP are of the Nsg masculine reky. The only attestation in the
Gospel codices (John s5:12) can also be analysed as the ‘long form’ of the PastAPI reks. It is a
translation of a Greek aorist participle, 0 ein@v, which supports the idea that this must be a past
participle. However, in the Suprasliensis the forms translate the Greek present participle Aéywv.
In the Gospel codices this is translated by a present participle of glagolati.
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In the Gospel codices there are a number of PresPPs of resti, yet in all
instances there is variation with other forms:

(230) gllago]la emu Zena . vémp éko mesié pridets . rekomy™*** x[ristos]s
(Z, M]
gllago]la emu zena vémp ¢éko mesia pridet . g[lagolae]my
x[ristos]®
the woman said to Him, “I know that Messiah is coming (He who is
called Christ)” (John 4:25)

PresPP

(231) simona rekomago®*"* petra [Sk]
simona naricajostaago™ " se petra [Z, A]
Simon who was called Peter (Matthew 4:18)

(232) na mésté rekomémup™** litostrata [A]
na mésté naricaemémv® " litostrato [Z, M, A, Sk]”
at a place called The Pavement (John 19:13)

It is difficult to see how these examples are compatible with the attainment of
an inherent boundary, which is typical of the perfective aspect. This could be
a reason to regard resti as anaspectual. In example (229) the PresAP refers to
an ongoing (terminative) event, while in examples (230) through (232) the
PresPPs are used to refer to a stative situation. Interestingly, the prefixed verb
naresti s¢ ‘be called’ is also attested in similar stative usage, competing with
naricati s¢ ‘be called

(233) simonts . ize nareceto™™ se petrd [M]
simon’ iZe naricaets™™ s¢ petrs [Z]
Simon, who is called Peter (Matthew 10:2)

This shows that there are probably lexical factors at play as well that make
these verbs more compatible with stative situations.

The verb glagolati, which is often paired with resti as its imperfective partner,
is not the typical imperfective verb, but rather anaspectual, since it also
occurs in aterminative predicates (cf. also example (114) with an aorist):

(234) 1 pristoppse ucenici ego rése emu . po ¢pto pritbcami g[lago]lesir™
imb [Z, M]
and the disciples came and said to Him, “Why do You speak to them
in parables?” (Matthew 13:10)

7 Assemanianus has two versions of this text.
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(235) juze ne mnogo g[lago]ljo*™ sb vami [Z, M, A, Sk]
I will not speak much more with you (John 14:30)

Whatever the original status of resti, and notwithstanding the few atypical
attestations of present participles, based on the examples above and the
profile and behaviour of resti, I think the best way of understanding the
relationship between glagolati and resti is indeed a comparison with the
relationship between anaspectual verbs and a prefixed formation (e.g. (bojati
se - ubojati s¢ ‘be afraid’)). Another solution would be to treat resti as the
most terminative verb in the anaspectual group, with only very few
aterminative attestations. However, when those few attestations are regarded
as fossilized remnants from an older stage, before the aspect system was
established, the verb resti is no different from other perfective verbs.

There are two other verbs that have ended up in the group of anaspectual
verbs because of the absence of a derived partner, which could also be seen as
‘dubious’ cases. First, there is the verb vratiti s¢ ‘turn around’ that is attested
only 5 times, of which no *vrastati s¢ is attested, as one would expect based on
knowledge of the cognates of vratiti s¢ in modern Slavic languages. However,
given the small number of attestations of vratiti s¢, the absence of *vrastati sg
can be attributed to chance.”

Secondly, an odd verb that is part of the anaspectual group is sésti ‘sit down’.
There is no derived partner attested of sésti, while there are of the other verbs
of bodily position, lesti - Iégati ‘lie down’ and stati - stajati ‘stand up’.
Interestingly, these three verbs share the characteristic of also having an
aterminative, stative ‘partner’, referring to the bodily position and
recognizable by stative -é- (cf. Schuyt 1990: 15), but never to the change of
state toward that position: leZati ‘lie’, stojati ‘stand’ and sédéti ‘sit’. The
following table contains the frequencies of the attestations of the various
verbs:

Original verb  Atts.  Derived verb  Atts.  Stative version  Afts.

lesti 3 Iégati 2 lezati 141
stati 171 stajati 1 stojati 258
sésti 146 *sédati - sédéti 201

Table 8.3 Frequency of attestations of verbs of bodily position

What is striking, here, is the low number of attestations of lesti, but also the
low frequency of the attestations of the derived verbs légati and stajati and

7 The verb vrastati sg is attested in Old Russian (Sreznevskij 1893-1906).



222 VERBAL ASPECT IN OLD CHURCH SLAVONIC

the absence of *sédati” For some reason, these verbs, even though they are
inherently terminative, did not derive imperfective verbs very easily. It is
possible that the relationship of the terminative verbs with the aterminative
(stative) verbs is responsible for this. However, the relationship between, for
example, sésti and sédéti is not that of a Slavic-style derivational aspect pair,
since sédéti is not terminative and, moreover, the aterminative verbs of bodily
position are never used in a terminative predicate, so there is no shared
meaning and no opposition. Again, the relationship is more like the
relationship between bojati s¢ ‘be afraid’ and ubojati s¢ ‘become afraid’, just as
in the case of glagolati and resti. The profile of sésti, with no imperfects and
past participles, as well as the behaviour, e.g. the future interpretation of the
present tense forms and translation of Greek aorist forms, is compatible with
that of perfective verbs.

I have not found other verbs in the anaspectual group that would not belong
there based on their profile, behaviour, or knowledge of their cognates in
modern Slavic languages.

8.4 Some complicated cases in the perfective groups

Just as resti ‘say’ and sésti ‘sit down’ are deviant members of the anaspectual
group, there are some deviant members of the aspectual groups as well. In the
discussion of the imperfective aorist, I have already mentioned some
imperfective verbs that show deviating profiles and/or behaviour, like
voepradati ‘ask’ and verbs ending in -véstati. There are also verbs in the
perfective group that have deviating profiles and behaviour. I will first give
some examples of unprefixed perfective verbs and subsequently also of
prefixed verbs.

8.4.1 Complicated cases in the perfective unprefixed group

First, there is krostiti ‘baptize’ which has a derived partner krvstati ‘baptize’.
The verb krostiti shows aberrant behaviour, as well as an atypical profile. The
most striking difference when it comes to the profile, are the 29 attestations of
PresAPs, on a total of 119 attestations. Examples are:

(236) bystp ioand kraste™*? vb pustyni [Z, M, A, Sk]
John baptized in the wilderness (Mark 1:4, my translation)

7 The derivation -sédati is only attested in the prefixed imperfective verb szsédati se ‘become
rigid, clot’, derived from sasésti s¢ ‘become rigid, clot’.
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(237) 1 ide paky na on® polb iordana . na mésto ideze b¢ ioan® . prézde
kroste™A? [Z, M]
and He went away again beyond the Jordan to the place where John
was first baptizing (John 10:40)
(238) $pdbse ubo naulite vese jez[ylky . krosteste®™A
s[ylna i s[ve]taago d[u]xa [M, Z, A]
go therefore and make disciples of all the nations, baptizing them in
the name of the Father and the Son and the Holy Spirit (Matthew
28:19)

j¢ vb ime ot[p]ca i

All these present participles are translations of Greek present participles and
seem to refer to an ongoing activity, just like the present participles of resti.
Given the relatively high frequency of these forms, the profile of krostiti
partly looks like that of an anaspectual verb.* Also, examples of variation
between codices in the present tense show that krostiti can be used in
contexts in which a derived verb is expected, like in the following example
where the Greek has a present tense fanriopou ‘I am baptized’ and a future
tense Bantio0roecbe ‘you will be baptized’:

(239) 1ikrpsteniemp imbze azb krvstoP™ se . krvstita®™ se [Z, Sk]
i krp$teniems imbZe azb krastajo™ se . krostita®™ se [M, A]
and you shall be baptized with the baptism with which I am baptized
(Mark 10:39)

Interestingly, the cognates of krovstiti are considered to be imperfective in
some modern Slavic languages (e.g. Russian), perfective in others (Bulgarian,
Macedonian) and biaspectual in yet others (BCS).” This fits with the rather
unclear aspectual status of the verb in OCS.

Some other unprefixed perfective verbs show deviating profiles and
behaviour as well. For example, the verb protiviti s¢’® is attested 7 times as a
PresAP (out of 28 attestations) and shows deviating behaviour in the present
tense as well. The use of the present participle is the same as with krostiti:

74 Moreover, the 15 attestations of the imperfect (krpStaaxw) are all automatically attributed to
krostati, which is otherwise only attested in the infinitive. However, this is yet another case in
which the imperfects of the perfective and imperfective partners are homonymous.

7 Incidentally, this is exactly the same for the verb vidéti, ipf in Russian, pf in Bulgarian and
Macedonian and biaspectual (anaspectual?) in BCS. It would be interesting to see whether there
are more such parallels.

7 The verb is not a prefixed version of *-tiviti, but rather a derivation of the adverb protive
‘against’.
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(240) zaklinajg te d[u]de nelisty . protivei®™A? se tvari blo]Zbi [Es]
I curse you unclean soul who opposes Gods creation (55a, 15-16)

The present tense is used to translate Greek present tense forms, which is not
completely unusual in case of perfective verbs, but the following examples
show that the functions are more compatible with those of anaspectual verbs:

(241) vbséks ize s¢ tvoritb c[ésa]rb . protivite™™ se kesarevi [Z, M, A]
everyone who makes himself out to be a king opposes Caesar (John
19:12)

(242) tebé Ze césaru protivims™™ se i zapovédemd tvoimb ne pokaraemp
s [S]
we oppose you, king, and we do not obey your laws (59, 24-26)

While example (241) could be seen as a case of singularization (cf. examples
(120) and (121)), where a single event is exemplary for the general rule, this
does not apply in (242), where it is difficult to see how the example fits with
‘attainment of an inherent boundary’. This is a typical actual present, as the
present tense of the second verb in the utterance, the imperfective pokarjati
‘submit’, also shows. So it seems that even though protiviti s has a derived
partner, it occurs in contexts where one would expect an anaspectual or
imperfective verb.

These deviations from the typical perfective profile and behaviour, can
probably be attributed to the fact that it concerns simplicia. These verbs form
the basis of the system and must have been compatible with more contexts
before the development of the aspect system. And although prefixed verbs
must have been more versatile before the development of the aspect system as
well, it is possible that the prefixed verbs were felt to express stronger
terminativity, thanks to their prefix, which could have made them less
compatible with certain contexts (e.g. actual present), while unprefixed verbs
continued to be used in multiple contexts. This fits with the attestations of
present participles of resti as well. Also, the fact that some of these simplicia
ended up having a different aspect in different modern Slavic languages
shows that their aspectual preference may not have been as strongly
established as that of the prefixed verbs (but cf. also Chapter 9, section 9.1).

8.4.2 Complicated cases in the perfective prefixed group

Overall, the perfective prefixed group is more homogeneous than the
perfective unprefixed group, which means that there are only relatively few
verbs with a clear deviating profile. The verbs with the most deviating
attestations (imperfects and present participles) are: razuméti ‘understand’
(14 out of 347), pobéditi ‘overcome’ (10 out of 46) and semysliti ‘think, think
over’ (7 out of 11), of which the derived partners razumeévati ‘understand’
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pobéZdati ‘overcome’ and semysljati ‘think’ are attested in OCS. I already
discussed the 10 attested present passive participles of pobéditi, which appear
to have a specialized potential meaning, so I leave this verb out of the
discussion here. A closer look at the attestations of the two other verbs shows
deviating behaviour as well. For example, razumeéti is also used to refer to a
state that is simultaneous to the moment of utterance, which is very atypical
for a perfective verb:

(243) i g[lago]la im® . tako li vy nerazumblivi este . ne razuméete’™ li . éko
vséko eze izvbnu vbxodite vb ¢[lovelka . ne mozZets ego oskvrpniti
(27
and He said to them, “Are you so lacking in understanding also? Do
you not understand that whatever goes into the man from outside
cannot defile him” (Mark 7:18)

On the other hand, razuméti is used to express one single complete events as
well:
(244) razuméve’™ "' ze Ipstb ixb . re¢e kb nims [Z, M]
but He understood their trickery and said to them (Luke 20:23, my
translation)™®

(245) nyné razumése*™ . éko vsé eliko dalb esi mbné . otb tebe sotn [Z, M, A,
Sk]
now they have come to know that everything You have given Me is
from You (John 17:7)

And it occurs in translations of Greek future forms, in this case yvaoy:

(246) eze azb tvorQ ty ne vési nyné . razuméesir™ ze po sixv [Z, M, A, Sk]
what I do you do not realize now, but you will understand hereafter
(John 13:7)7°

7 Marianus has razuméati. Similar present tense forms with an -a- instead of the
expected -e- occur 13 times in this codex, but never in the other Gospel codices, while Marianus
also has present forms with an -e- (cf. example 246). It is possible that the forms with an -a- are
connected to the imperfect razuméaxs and should be seen as derived forms. See Chapter 10 for
more on the possible role of the imperfect in the formation of derived forms.

78 The English translation has ‘detected’, here, which even more strongly points at a change of
state, at the gaining of the insight. The Greek original has an aorist participle, karavorioas.

7 In Matthew 13:14 a construction ne imate razuméti ‘you will not understand’ is attested,
translating the Greek u#] ovvijre ‘you will not understand” with a subjunctive aorist.



226 VERBAL ASPECT IN OLD CHURCH SLAVONIC

The fact that razuméti is used in all these contexts, makes it similar to an
anaspectual verb. But how can this be explained when there is a derived verb
razumévati as well?

The characteristic that the verbs razuméti and semysliti share, is that they can
also be seen as denominal instead of prefixed, from the OCS nouns razumes
‘mind’, and semysle ‘mind’.*° It may be that the association with those nouns
resulted in the use of razuméti and semysliti as (unprefixed) anaspectual
verbs on certain occasions, while on other occasions they were felt as prefixed
formations of uméti ‘be able’ and mysliti ‘think’, which resulted in the
derivation of imperfective verbs.

In the following example of a habitual or generalized utterance, the present
tense forms of razumeéti and razumévati compete:

(247) ¢éko videste ne videts . i slySeste ne slySets . ni razuméjotor™ [Z]
éko videste ne videts i sly$este ne slySets ni razumévajote®™ [M]
because while seeing they do not see, and while hearing they do not
hear, nor do they understand (Matthew 13:13)

Apparently, the scribe of the Marianus felt that razumévati was more fitting
in this context than razuméti, which can indicate that he felt razuméti to be a
prefixed and therefore perfective verb.

Other deviating verbs require a different explanation. For example, the fact
that otevéstati ‘answer’ has 6 attestations (out of 765) of PresAP and
imperfect could result from the fact that it belongs to a family with a
complicated mix of derivational patters (cf. fn. 42). And for pokoriti
‘subjugate’ the deviating attestations (6 PresAP/imperfects on a total of 30)
could result from the fact that it is not a prefixed form of koriti ‘slander’, but a
denominal formation based on the noun *pokors ‘submissive’, which is
attested Old Russian, but not in OCS.

The discussion of these verbs with deviating profiles within the various
groups, shows, once more, that even though a morphological classification is
a very good starting point for the aspectual categorization of verbs, there is
still the need for the analysis of individual profiles and a semantic analysis in
addition to the morphological categorization. In individual cases, this
analysis may result in a re-evaluation of the morphological categorization.

% Note that even though the present passive participles of pobéditi can be explained perfectly well
as typical perfective forms with a potential meaning, the verb could also be regarded as
denominal, from the noun pobéda ‘victory’. However, I do not believe there is a compelling
reason to treat this verb as denominal.
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8.5 Concluding remarks

The proposed grouping into perfective, imperfective and anaspectual verbs
finds support in the semantic analysis of individual examples found in the
OCS corpus. The analysis of examples of perfective and imperfective verbs
supports the hypothesis that perfective verbs express the attainment of an
inherent boundary and that imperfective verbs defocus that boundary, which
makes the OCS derivational aspect system a typical Slavic-style aspect system.
Anaspectual verbs are verbs that are not inherently terminative, which sets
them apart from both perfective and imperfective verbs. Since anaspectual
verbs do not express aspect, they are also not constrained by it and are
therefore often more versatile than ‘aspectual’ verbs. Below, I will briefly
summarize the outcomes of the analysis of individual perfective, imperfective
and anaspectual forms.

8.5.1 Perfective verbs

Perfective verbs in the present tense regularly result in a future interpretation;
they are also the standard translation of Greek future forms. I have found no
examples of perfective verbs in the actual present; the actual present could
very well be the only context from which the perfective aspect is absolutely
excluded in OCS. However, the small number of examples of the actual
present in OCS does not allow for conclusions that are all too firm.

Perfective presents are also used to refer to generalized events. This is the
exemplary function, where a single event is presented as an example for a
general rule. The event at hand is expected to occur when the right
circumstances occur. Cases of bounded repetition also concern events that
occur more than once. However, with bounded repetition the perfective verb
refers to a limited string of bounded events and presents this as bounded both
on the micro-level (every single event) and on the macro-level (the whole
string). This usage shows that the perfective aspect is not incompatible with
iteration. Unlike imperfective verbs, though, perfective verbs always need an
additional indication that the event is to be understood as occurring more
than once, for example with adverbial expressions such as ‘two times’.

Other contexts in which the perfective present occurs in OCS, albeit not very
often, are performative utterances and the historical present. In both cases
there appears to be a clash between totality on the one hand and the fact that
the event is presented as ‘going on’ on the other hand. The difference between
the two is that in the historical present an event is not presented as actually
taking place at the moment of utterance, while a performative event takes
place exclusively at the moment of utterance. It seems that the clash between
totality and ‘going on’ results in a pragmatic solution in which the
imperfective aspect emphasizes the strong association with the moment of
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utterance (or the imagined time of the situation”), while the perfective aspect
is used to emphasize totality, or the result of the event.

With regard to the use of perfective verbs in the past, the two modes of
language, narrative and retrospective, result in different usage types. In
narrative contexts perfective events refer to complete events which push the
story forward and form a chain of events (often in the aorist and PastAPI). In
retrospective mode perfective verbs indicate that the result of the complete
event is connected to time of the utterance.

On the rare occasion that a verb of the perfective aspect is rendered in the
imperfect, the form expresses conditional habituality in which a total
terminative event is presented as conditionally recurring: every time X, then
Y, which is compatible with the attainment of an inherent boundary on the
micro-level (the qualitative level), but at the same time expresses temporal
unboundedness at the macro-level (the quantitative level). This type of
conditional habituality shows similarities to the exemplary function of
perfective present forms and also finds a parallel in the function of PresPP of
perfective verbs, which have a potential meaning.

8.5.2 Imperfective verbs

Imperfective verbs are attested in a wide range of functions. They all have in
common the fact that the inherent boundary is defocused. I distinguish two
types of results of this defocusing. First, the defocusing can result in
emphasizing the unboundedness at the macro-level, which includes iterative
use, habitual use or generalized use, which are sometimes difficult to
distinguish. If an imperfective verb is used like this, the events at the micro-
level are understood to be complete, even though the imperfective verb does
not explicitly express this; the unboundedness concerns the fact that the verb
does not refer to a single complete event. The second result of the defocusing
of the inherent boundary concerns the boundary of an individual event. In
such instances, the defocusing of the inherent boundary has a variety of uses.
In the actual present, for example, the process leading up to the inherent
boundary is in focus. In conative usage the defocusing of the inherent
boundary expresses a failed attempt. In a performative context, on the other
hand, the imperfective aspect is never interpreted as a failed attempt, but
rather as a single complete event; there, the choice of aspect can be attributed
to the strong association with the moment of utterance. In the (rare cases of
the) historical present in OCS, the choice of the imperfective aspect is either
linked to the ‘imagined time of the situation’, or is possibly connected to
singling out the event as a ‘decisive event’. Finally, imperfective verbs are
almost never used in the translation of a Greek future form: whenever there is
a choice of aspect, the translators choose the perfective partner.
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The combination of the aorist and imperfective verbs is rare and sometimes
difficult to interpret. The forms have complicated semantics since two levels
of boundedness play a role, just as with the perfective imperfect, but exactly
the other way around: the inherent boundary on the qualitative level is
defocused, but the event is still presented as temporally bounded (total) at a
quantitative level. There is a possible example of an imperfective aorist in
which the inherent boundary is never reached (e.g. example (176)), but the
event is still presented as a link in a chain of events. There is an example with
a roundtrip meaning (example (177)), one with a reversed action (example
(179)), one with a temporally bounded iterative event (example (180)) and an
example in which the form is possibly used for the translation of a historical
present ((181). This may not be a very impressive collection of examples, but I
believe it would not be right to pretend they do not exist. Their complex
semantics partly explains their rareness. Part of it can also be explained by
scribes replacing these rare forms with ‘normal’ perfective aorists (see the
discussion of example (181)).

The function of the imperfective aspect can be characterized as follows: the
use of a terminative verb always elicits the thought of a change of situation
and there are various reasons why imperfective verbs are used to keep this
change of situation out of the focus. This can be unbounded repetition, or
conativity, but also the mere fact that the event occurs at the moment of
speech. Hence, imperfectivity is not incompatible with complete events, does
not necessarily deny the totality of a terminative event, but defocuses the
inherent boundary for various reasons.

8.5.3 Anaspectual verbs

Anaspectual verbs are attested in most contexts and often parallel to either
perfective or imperfective verbs. However, the profiles and behaviour of
anaspectual verbs are rather divergent. The main division within the
anaspectual group is between inherently aterminative anaspectual verbs and
terminativizable anaspectual verbs. Based on the attestations that are
available, some verbs appear to never occur in terminative predicates, while
others do so from time to time and yet others occur more frequently in
terminative predicates than in aterminative predicates. Although there are
links to the preferences for aterminative or terminative predicates and the
lexical content of a verb, some lexically very similar verbs show rather
different behaviour. There is also a difference in the extent to which a
terminativizable verb allows for the expression of the attainment of a
boundary.

If an anaspectual verb is used to refer to an event of which the inherent
boundary is presented as attained, the anaspectual verbs are in direct
competition with perfective verbs. This competition explains the variation
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between the four Gospel codices. In retrospective mode the anaspectual verbs
have the unique function of simple denotation. Imperfective verbs do not
normally occur in retrospective utterances, with the extremely rare exception
of some of the imperfective aorists.

8.5.4 Other issues

The analysis of some verbs that show deviating profiles within the various
groups, like veprasati ‘ask’ in the imperfective groups, resti ‘say’ and sésti ‘sit
down in the anaspectual group and krostiti ‘baptize’ and razumeéti
‘understand’ in the perfective groups, show that morphological classification
and statistical analysis of the grammatical profile of groups of verbs is only a
starting point, but that there are exceptions to the general rules which can
sometimes be explained away or speculated upon, while in other cases the
reason for the deviating profile or behaviour remains unclear.

In the following chapter I will discuss the additional groups that I have
included in the statistical analysis in Chapter 7.



